





4-1. A7F7 ¥W (OF $T)

Z|&at/| 2= _ |»=oin
22 oz goo | ang Ole7loze TR
- Sy TeTiE M ReY ) ze memy sbgol | SIS
2o | oA 55w wuw wme | 35OUFES AN aw e
G B ) 2 g | o8
2 02 4 4 100.0 31.1 15.6 89 16.7 16.5 56 2.1 3.2 0.3
2 022 4 100.0 26.3 21.3 10.6 13.7 14.0 8.0 1.7 4.4 0.1
Ao E
z = @H| 1000 315 172 64 188 163 54 15 28 01
2 = H| 1000 398 138 63 153 125 42 15 52 14
M £ ! 100.0 27.2 12.7 121 15.1 20.3 6.5 2.8 2.9 0.3
g0 # 100.0 28.3 16.9 13.2 14.4 15.3 5.8 3.1 3.1 0.0
< A g )
= At 100.0 30.6 15.3 9.6 185 15.0 54 2.1 3.2 0.3
q At 100.0 31.7 15.9 8.2 14.6 18.1 5.8 2.1 3.2 0.4
CoE g
1T5~29A 100.0 291 9.9 5.0 27.3 13.4 8.0 3.4 3.2 0.6
30~ 39MX| 100.0 28.1 10.9 7.3 14.5 27.3 89 2.6 0.5 0.0
40 ~49MA 100.0 29.6 171 9.6 15.2 17.4 75 1.4 2.4 0.0
50~59A4A 100.0 30.7 17.2 9.3 185 13.5 5.8 1.3 35 0.2
6 0A O 4 100.0 32.7 17.0 9.9 13.8 16.4 3.7 2.1 3.8 0.4
65 A O 4 100.0 32.7 17.7 9.6 131 17.6 3.0 2.2 3.6 0.6
¢ Tt F_jl Hoy
Z Z o a| 1000 323 185 80 135 177 42 26 31  Of
il = 100.0 32.1 15.0 9.5 17.8 13.7 59 1.1 4.4 0.5
CH = 100.0 28.4 12.3 9.8 20.3 17.6 6.8 2.4 2.0 0.4
tf & o 4 100.0 27.8 14.7 5.8 11.8 24.9 9.0 3.8 2.2 0.0
IR
gl =z 100.0 28.7 12.4 6.9 24.0 14.6 6.5 3.7 2.7 0.4
Hi 2 A 9 & 100.0 30.7 15.3 9.6 15.6 17.2 6.1 1.6 3.4 0.4
AP’ /O E 100.0 34.4 19.4 89 125 16.4 3.1 2.0 3.3 0.0
STELETD
= o 100.0 31.0 14.9 10.2 15.4 16.7 6.3 2.0 3.3 0.2
2 2 B 100.0 31.2 16.8 6.9 186 16.2 45 2.3 3.1 0.5
EEKIER
HE /e 100.0 33.9 111 1.2 18.7 16.7 8.6 0.7 3.2 0.0
At g 100.0 280 13.8 7.9 19.6 17.0 8.6 3.3 1.9 0.0
A H| A/ Tk Of 100.0 32.8 14.4 10.9 16.4 13.7 4.4 2.8 4.6 0.0
s 8 o ¢ 100.0 29.7 18.3 11.4 10.5 18.3 55 2.6 3.4 0.4
s/ =2 100.0 32.0 16.4 10.4 17.3 15.3 48 0.0 3.3 0.5
B el 100.0 23.9 1.7 12.6 15.3 26.5 14.3 5.7 0.0 0.0
tFa259
100TH2 02k 100.0 33.9 19.3 9.0 131 16.3 3.2 2.1 2.8 0.3
1700~2008t& 100.0 32.8 16.3 8.0 16.6 16.3 3.4 1.2 53 0.0
200~300%t« 100.0 28.7 15.4 9.6 17.0 15.3 7.6 2.3 4.0 0.3
300~4008r 100.0 28.0 121 10.6 195 20.5 3.8 2.5 2.3 0.7
4008t O 4 100.0 30.7 13.7 8.2 18.3 15.9 8.1 2.3 2.4 0.4
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4- 2. AZA HF AR

=1
ceyony| BREE | a0 (3715 oy | Simio | OIEE
SO T vtz NETE - A - R <l
38 Tmey | BMH oy | BANE] B2 2oty
T

202 4 H 100.0 14.1 3.3 20.3 10.2 1.1 6.4 439 0.6
2022 4 100.0 12.9 5.7 26.9 8.0 1.6 5.0 39.4 0.4
Ao

= £ ! 100.0 20.0 49 20.1 8.0 0.7 6.5 39.6 0.3
= £ ! 100.0 39 1.0 13.0 15.5 1.5 2.2 61.6 1.3
M g ! 100.0 9.2 1.6 28.0 11.4 1.0 5.0 43.2 0.6
g0 # 100.0 14.1 3.6 17.1 9.9 2.0 11.0 41.2 1.1
<A g )

= At 100.0 14.4 3.3 23.7 10.9 1.0 5.7 40.4 0.5
9 At 100.0 13.4 34 12.7 8.7 1.3 7.8 51.8 1.0
CoH g

175 ~29MNA| 100.0 3.6 0.0 49.8 5.7 0.0 18.6 22.3 0.0
30~39M4A 100.0 11.7 2.9 72.9 0.0 2.7 4.5 53 0.0
40~49A 100.0 17.9 8.1 355 6.2 0.0 9.7 22.7 0.0
50 ~59MX\| 100.0 18.0 54 25.0 8.9 1.2 8.8 30.5 2.1
6 0AM O 4 100.0 13.0 1.9 8.1 12.9 1.2 3.9 58.6 0.3
65 M O 4 100.0 12.1 1.7 4.6 12.7 1.4 3.6 63.5 0.4
¢ Tt F_jl Hoy

s & o o 100.0 14.2 2.1 4.2 8.2 1.1 3.5 66.2 0.5
I = 100.0 16.0 59 24.0 9.8 1.6 9.6 31.7 1.3
CH = 100.0 12.2 1.8 39.2 13.6 0.6 7.8 24.8 0.0
0 & ©of A 100.0 6.7 4.7 56.1 17.1 0.0 0.0 15.4 0.0
(B o NEE>

gl = 100.0 19.1 3.2 32.2 85 0.0 9.0 26.6 1.5
Hi 2 A 9 & 100.0 10.6 3.8 235 12.9 1.2 5.8 421 0.2
AME /O = 100.0 181 2.6 10.3 6.5 1.4 6.4 53.8 0.9
EHEEY

= & 100.0 133 39 26.7 94 0.9 7.2 379 0.7
2% 2 HFSARS 100.0 16.3 1.8 3.7 12.5 1.6 4.2 59.6 0.4
CA Yoo

42/ 100.0 9.6 5.0 35.2 20.3 0.0 9.5 19.1 1.4
At g 100.0 9.5 6.9 50.6 94 2.3 4.9 16.3 0.0
M H[ A / Tt Oj 100.0 17.9 2.4 22.4 12.8 0.0 11.0 335 0.0
s 8 o ¢ 100.0 9.0 1.6 11.5 7.3 0.5 6.4 62.8 0.9
s/ =2 100.0 20.6 6.7 24.3 6.9 1.5 6.0 329 1.1
™ ol 100.0 5.0 35 83.7 0.0 3.3 4.5 0.0 0.0
Otrasd)

1008t 0Ojgr 100.0 14.1 1.8 5.2 8.4 1.8 3.5 64.4 0.9
1700~2008tH& 100.0 13.7 2.1 14.8 10.6 0.0 8.9 499 0.0
200~300%tH& 100.0 14.1 2.6 30.8 6.5 0.0 13.0 33.0 0.0
300~4008F 100.0 20.7 48 30.6 14.6 1.3 6.1 20.6 1.3
4008t O 4 100.0 11.1 6.6 33.4 13.9 1.9 3.3 28.9 0.9
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4 - 3. 4gojd gt 7|y
(TS %)
= Hatol
2w w | EOHE | me | oma | SR us | oo | ol |
Z10|Ct ZO0r4 Zotd 7o\t Z10|Ct L& L3l [ 2R EZUCH
Zo|ct | Aolct | ~© 0|ty | Zio|tt
2 02 4 4 100.0 65.7 91 56.6 23.0 2.0 1.8 0.2 9.4
2 022 4 100.0 69.7 8.4 61.3 17.0 1.8 0.8 1.0 11.4
-
Cl = e 100.0 68.4 6.4 62.0 22.0 0.4 0.4 0.0 9.2
= = e 100.0 57.5 5.7 51.8 31.7 6.2 5.7 0.6 4.5
A = e 100.0 63.5 7.2 56.3 22.7 3.3 3.0 0.3 10.5
gz d 100.0 68.6 21.4 471 18.2 0.7 0.7 0.0 12.5
<A 5 )
= At 100.0 64.7 9.5 55.2 24.4 2.4 2.2 0.2 8.4
o At 100.0 66.6 8.6 58.1 21.4 1.6 1.5 0.1 10.4
g g 8o
15~29 A 100.0 56.9 6.7 50.3 25.7 0.0 0.0 0.0 17.3
30~39A 100.0 39.6 2.5 37.1 38.7 7.1 7.1 0.0 14.5
40~49A 100.0 69.3 6.7 62.6 16.9 1.9 1.9 0.0 11.9
50~59A4 100.0 66.6 9.5 57.1 26.3 1.5 1.5 0.0 5.6
6 0 AN O 4 100.0 71.0 11.2 59.8 19.8 1.9 1.6 0.3 7.2
65 AN O 4 100.0 7.7 10.0 61.7 17.7 2.0 1.8 0.2 8.5
¢ Tt F_jl Hoy
s 2 O of 100.0 70.0 10.7 59.3 20.1 1.3 1.1 0.2 8.6
I = 100.0 68.3 8.3 60.0 20.8 3.3 3.2 0.1 7.6
CH = 100.0 55.4 7.7 47.7 31.2 1.5 1.3 0.2 11.8
o & o & 100.0 65.2 7.6 57.6 14.8 0.0 0.0 0.0 20.0
(ZALEED
aj 2 100.0 51.5 5.2 46.3 30.7 1.6 1.6 0.0 16.3
B ¢ A A & 100.0 68.3 9.9 58.4 22.5 2.5 2.2 0.3 6.7
AbE /0o 2 100.0 71.8 10.4 61.4 17.0 1.2 1.2 0.0 10.0
(BAEEE>
= e 100.0 65.1 10.3 54.8 23.9 2.0 1.9 0.1 9.0
2 2 HISAES 100.0 66.5 7.1 59.5 21.5 1.9 1.8 0.2 10.0
CH e
q4 2/ 88 100.0 65.2 6.5 58.7 25.7 1.5 1.5 0.0 7.5
Al = 100.0 53.7 6.1 47.5 41.0 0.0 0.0 0.0 53
M H[ A / Tt Oj 100.0 68.8 12.2 56.6 19.6 3.4 3.4 0.0 8.1
s 3 9 ¢ 100.0 69.4 14.2 55.2 17.2 2.0 1.6 0.5 1.3
N/ =7 100.0 63.9 8.6 55.3 26.2 0.9 0.9 0.0 91
i 2l 100.0 457 3.1 42.6 38.1 7.8 7.8 0.0 8.3
Ot a2s5ED
1002t 02k 100.0 69.3 7.0 62.2 19.5 1.0 1.0 0.0 10.3
100~2008H¥ 100.0 64.7 12.2 52.5 24.5 2.4 1.9 0.6 8.3
200~3008t& 100.0 61.6 11.2 50.4 27.0 2.3 2.3 0.0 91
300~4008t& 100.0 68.0 6.5 61.5 22.5 2.4 1.8 0.6 7.1
4000t oY 100.0 64.7 8.8 55.8 22.8 2.3 2.3 0.0 10.3
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== ZAPHE
UI'Dl‘i‘;E 7'% _ Pd-la_q LA | EM Ol
y = QZI =) I‘EOF _E_ |__J—||:|.J—|_|. 24 zH o\ d || AT
;l_ = 7_-” = T, = o = qu /\|.7|_ =Z M
= S| gmE | wM A OhE | Sa (3o s
SOC | Lz dez| B |Ag g
g3l | © T
2 0244 100.0 9.6 32.4 18.9 19.8 8.8 4.9 5.3
2 0224 100.0 11.0 32.4 4.7 28.7 9.1 7.2 6.9
CA 9 2O
s % @ 100.0 7.7 35.2 19.6 20.9 7.8 2.8 6.0
= & 4 100.0 135 37.0 10.3 20.6 4.2 7.8 6.2
A £ & 100.0 10.1 26.4 22.3 17.6 12,5 6.0 5.1
g8 =24 100.0 10.4 29.5 20.2 19.6 10.2 6.0 3.1
< 2
= At 100.0 10.3 32.4 171 18.9 9.2 5.8 6.1
o At 100.0 8.9 32.4 20.9 20.8 8.4 3.9 4.5
-
15~29A 100.0 13.0 355 12.8 14.5 10.5 4.1 8.9
30~39A 100.0 15.3 235 20.9 15.2 10.0 5.3 9.8
40~49A 100.0 4.9 355 19.9 238 8.6 5.0 1.9
50~509MA 100.0 9.8 34.3 14.7 22,6 8.5 4.7 5.1
6 0AM o 4 100.0 8.8 31.6 21.6 20.1 8.3 5.1 4.5
65AM o 4 100.0 9.2 31.3 22.4 20.4 7.5 5.2 4.0
¢ Tt H 4
s & © of 100.0 8.9 31.4 21.9 20.4 7.2 5.5 4.4
il = 100.0 10.1 35.9 17.5 17.2 9.7 4.6 4.9
Cf £ 100.0 10.3 30.3 17.3 21.6 8.6 4.3 7.0
M = o & 100.0 6.6 234 10.8 26.0 21.2 4.1 7.9
(ZAUSEIED
Ol 2 100.0 136 311 14.2 16.3 11.9 6.2 6.3
Hi & & A S 100.0 8.4 32.5 19.5 20.9 8.4 5.0 5.2
Ab /o E 100.0 9.3 33.4 22.0 20.5 6.9 3.3 4.7
(BAEEES
= & 100.0 9.2 31.7 18.5 19.7 9.2 5.8 5.6
2 2 HIAEE 100.0 10.3 335 19.6 20.0 8.2 3.4 4.9
N T =
a2 o E 100.0 7.0 31.4 14.8 20.4 12.9 3.5 10.0
A = 100.0 11.4 32.4 141 20.3 11.4 6.8 2.8
M H| &/ T Of 100.0 9.9 32.3 19.2 18.0 7.9 4.0 7.9
s 3 9 ¢ 100.0 9.6 30.4 19.2 18.6 6.7 11.3 4.0
N/ =7 100.0 7.2 34.2 211 22.5 9.7 2.3 3.0
i 2l 100.0 15.8 24.7 18.8 17.7 13.3 0.0 9.6
Ot a5E)D
1002 Ojgt 100.0 8.1 32.4 211 22.0 8.1 5.5 2.8
100~2008H& 100.0 12.6 36.0 20.5 18.5 5.9 1.6 4.9
200~3008t¥ 100.0 8.2 30.4 18.8 171 10.6 8.3 5.8
300~4002t& 100.0 9.2 32.9 17.5 211 10.4 3.6 5.2
4008t O 4 100.0 10.5 31.6 16.9 19.9 9.0 4.4 7.5
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4 - 5 YA F= 4= (F 88 (A5

(9l = %)

v oe | ow | wamw |MEEE | ogE | s | s
Fmampye | MY SN | YRtE] AIYAR | RIARY

2 0244 100.0 19.8 1.1 9.6 8.2 219
2 0224 100.0 181 1.9 9.3 7.9 21.7
CA 9 4
s = # 100.0 18.3 10.6 7.4 8.5 24.7
= &£ # 100.0 17.5 18.8 4.7 3.0 199
A £ 100.0 22.2 8.3 14.4 9.1 21.5
g2 100.0 22.3 10.3 12.3 10.1 171
< 2
=l Af 100.0 18.4 11.8 9.1 5.9 237
A Af 100.0 21.3 104 10.0 10.7 20.0
<A
15~29MA 100.0 12.4 9.3 6.2 8.9 34.6
30~39MA 100.0 1.0 1.1 4.0 14.7 287
40~49A 100.0 159 124 8.7 7.5 214
50~59M4A 100.0 15.2 12.3 8.9 9.0 20.2
60AM ©Of4 100.0 26.3 10.8 121 6.6 18.0
65AM o4 100.0 27.8 104 12.3 6.5 18.0
¢ Tt F_jl Hoy
s & © of 100.0 28.0 8.8 12.3 5.7 191
I £ 100.0 16.9 13.0 8.9 8.7 22.6
Cf £ 100.0 12.0 1.4 7.2 10.9 25.1
M = o & 100.0 156 16.4 2.4 10.1 22.5
(ZAHEED
ol 2 100.0 1.9 11.8 6.4 6.4 33.0
o & 2 A S 100.0 196 1.6 9.7 9.3 196
Ab&E /o 100.0 28.2 9.0 12.4 6.7 17.5
(BHESE
= & 100.0 18.8 1.2 10.4 7.8 22.6
2 2 HIAEE 100.0 214 1.0 8.3 8.8 20.8
N T R
a4 &/ & ¢ 100.0 10.0 8.3 5.6 9.6 27.7
Af = 100.0 129 16.6 4.9 9.8 25.1
M H| A&/ THO4 100.0 209 10.2 10.0 6.9 22.4
s 8 o ¢ 100.0 24.3 9.3 155 5.8 18.6
Nl =R 100.0 191 133 9.5 8.1 240
T 2l 100.0 14.4 159 10.2 12.3 21.5
P L25HES
1002 Ojgt 100.0 291 10.7 121 4.9 194
100~200¢H& 100.0 22.7 10.8 8.9 7.6 205
200~3008H& 100.0 181 10.9 9.1 10.5 245
300~400%2tH 100.0 181 8.9 8.1 125 236
400TH3 o4 100.0 12.3 12.7 8.7 7.9 22.3
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4 - 5 YA FE BAS (OF )
: %)
2 g | aweame | o mssm | 2P 245 7|9
. o | THEEEE | a0 e

2 02 4 4 8.8 7.4 11.2 1.8 0.2
2 02 2 4 14.0 12.4 2.7 1.8 0.1
<A Yo

Cl = e 8.8 6.4 13.0 2.2 0.1
= £ e 11.0 5.7 15.7 2.9 0.9
M £ e 6.7 9.3 79 0.5 0.2
g2 4 9.9 8.3 7.6 2.1 0.0
< A g )

=l At 8.1 79 12.2 2.7 0.2
q At 9.6 6.8 10.1 0.9 0.2
CoH oy

1T5~29A 1.9 12.1 12.8 1.9 0.0
30~39MA 6.5 7.6 11.6 4.8 0.0
40~49MNM 13.4 10.6 9.7 0.4 0.0
50~59A 15.4 7.5 10.0 1.2 0.2
60AM ©Of4 7.4 5.1 11.6 1.9 0.4
65 AN O 4 6.2 4.6 12.2 1.6 0.3
¢ Tt F_jl Hoy

s 2 O of 6.3 55 12.2 1.6 0.4
il = 9.9 8.2 10.3 1.5 0.0
CH ES 10.5 8.8 11.0 2.9 0.2
H & o & 13.4 9.4 10.2 0.0 0.0
(B AEl >

aj 2 55 10.6 12.0 2.4 0.0
Hi @ A A S 10.6 6.6 11.1 1.7 0.2
AHE /O B 7.1 6.3 10.6 1.7 0.5
FABS

= e 9.9 7.3 9.8 1.9 0.3
2 3 HIARS 7.0 7.4 13.4 1.8 0.1
-

HE/HE 11.6 9.2 13.3 477 0.0
At = 11.5 9.7 8.8 0.8 0.0
M H| A&/ THO4 11.8 6.4 9.6 1.8 0.0
s 3 9 ¢ 8.6 6.5 8.8 1.7 1.0
N/ =7 8.8 6.4 9.9 0.8 0.0
T 2l 7.2 10.1 6.8 1.7 0.0
REFELTR

100TH2 02k 6.2 49 11.3 1.0 0.3
100~2008t3 8.8 5.6 12.8 2.3 0.0
200~3008t3 7.8 9.6 8.1 1.3 0.2
300~4002H& 11.4 8.0 7.8 1.6 0.0
4000t oY 10.6 8.5 13.8 2.9 0.3
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T = Al g8 o g3 7|BF ZW Al

2 02 4 4 100.0 88.5 9.6 1.8
2 022 4 100.0 90.9 7.4 1.7
-

Cl = “ 100.0 97.0 3.0 0.0
= = “ 100.0 90.5 3.6 6.0
A = “ 100.0 88.4 9.8 1.8
gz d 100.0 65.3 31.7 3.0
<A 5 )

Lt 2t 100.0 88.0 9.7 2.3
o At 100.0 89.1 9.6 1.3
g g 8o

15~29 A 100.0 71.7 19.9 2.4
30~39A 100.0 78.4 14.6 6.9
40~49A 100.0 85.1 13.3 1.6
50~59A4 100.0 90.3 8.5 1.1
60AM o 4 100.0 93.2 5.6 1.1
65 KM o 4 100.0 94.0 4.9 1.1
¢ Tt F_jl Hoy

s 2 O of 100.0 92.8 5.6 1.6
il = 100.0 87.8 10.6 1.7
CH = 100.0 82.9 14.5 2.6
o & o & 100.0 89.3 10.7 0.0
(ZALEED

aj 2 100.0 79.9 16.4 3.7
Hf € 2t Q! & 100.0 90.3 8.6 1.1
AbE /0o 2 100.0 92.0 6.1 2.0
(AH Y5>

= & 100.0 86.9 11.0 2.1
2 3 HIARS 100.0 91.1 7.5 1.4
CH e

q4 2/ 88 100.0 87.0 12.3 0.7
Al = 100.0 78.7 19.8 1.5
M H[ A / Tt Oj 100.0 89.1 6.3 4.6
s 3 9 ¢ 100.0 88.7 9.9 1.4
N/ =R 100.0 87.7 11.2 1.1
i 2l 100.0 75.6 17.7 6.6
Ot a2s5ED

1002t 02k 100.0 95.0 3.5 1.4
100~2008H¥ 100.0 89.6 7.5 2.9
200~3008t& 100.0 83.4 13.6 2.9
300~4008t& 100.0 84.6 15.4 0.0
40093 Of 4 100.0 87.2 11.1 1.7
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T = Al g8 o R 7|BF EW Al

2 02 4 4 100.0 79.2 15.9 5.0
2 022 4 100.0 83.5 14.2 2.4
-

Cl = “ 100.0 88.1 9.0 2.9
= = “ 100.0 87.1 6.3 6.6
A = “ 100.0 73.9 18.0 8.1
gz d 100.0 56.7 38.9 4.4
<A 5 )

Lt 2t 100.0 78.0 16.1 5.9
o At 100.0 80.4 15.6 4.0
g g 8o

15~29 A 100.0 59.8 26.6 13.6
30~39A 100.0 579 27.7 14.4
40~49A 100.0 72.8 25.6 1.6
50~59A4 100.0 78.7 16.6 4.8
60AM o4 100.0 89.6 8.3 2.0
65AM o4 100.0 90.9 7.0 2.1
¢ Tt F_jl Hoy

s 2 O of 100.0 89.2 7.3 3.5
I = 100.0 78.3 16.7 4.9
CH = 100.0 66.1 26.7 7.2
o & o & 100.0 66.3 27.9 5.8
(ZALEED

aj 2 100.0 64.7 23.4 11.9
Hf € 2t Q! & 100.0 80.9 15.9 3.1
AbE /0o 2 100.0 88.1 8.6 3.3
(AH Y5>

= & 100.0 78.1 16.6 54
2 3 HIARS 100.0 81.0 14.7 4.3
CH e

q4 2/ 88 100.0 73.1 221 4.8
Al = 100.0 66.9 25.3 7.8
M Hl & /T oOf 100.0 76.6 16.9 6.5
s 3 9 ¢ 100.0 83.6 11.8 4.7
N/ =R 100.0 83.8 12.3 3.9
i 2l 100.0 55.3 35.0 9.7
Ot a2s5ED

1002t 02k 100.0 91.9 5.0 3.1
100~2008H¥ 100.0 87.3 9.0 3.7
200~3008t& 100.0 74.5 15.4 10.1
300~4008t& 100.0 68.8 28.3 2.9
4000t oY 100.0 71.0 24.2 4.7
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4 -6 EEFYNY - (3) A

T = Al Gl g 7[EF = Al

2 0244 100.0 52.6 39.2 8.2
2 0224 100.0 53.1 411 58
CA 9 485

s % @ 100.0 59.2 34.9 59
= & 4 100.0 68.5 22.0 9.5
A £ & 100.0 46.7 391 14.2
g8 =24 100.0 30.3 65.0 4.7
< 2

= Af 100.0 50.6 39.7 9.7
o Af 100.0 54.8 38.6 6.6
Co o

15~29A 100.0 23.4 57.5 191
30~39A 100.0 17.2 63.2 196
40~49A 100.0 33.0 60.5 6.6
50~509MA 100.0 50.0 41.0 91
60A o4 100.0 72.2 243 3.5
65AM o4 100.0 76.0 21.2 2.8
¢ Tt H 4

s & © of 100.0 75.6 19.7 4.7
il = 100.0 47.0 43.5 9.5
Cf £ 100.0 28.2 60.0 1.9
th £ o & 100.0 17.3 72.7 10.0
(ZAUSEIED

Ol 2 100.0 30.6 53.2 16.1
Hi & & A S 100.0 52.7 40.7 6.6
Ab /o E 100.0 73.1 218 5.2
(BAEEES

= & 100.0 48.5 42.7 8.9
2 2 HISAES 100.0 59.3 335 7.2
N T =

a2 o E 100.0 27.8 65.3 6.9
A = 100.0 30.7 56.6 12.7
M H| &/ T Of 100.0 53.2 33.3 136
s 3 9 ¢ 100.0 57.6 35.3 7.1
s/ R 100.0 57.1 37.6 5.3
i 2l 100.0 22.7 61.0 16.3
P L25HES

1008H& Ot 100.0 78.2 17.3 4.5
100~2008H& 100.0 63.3 31.6 5.1
200~3008t¥ 100.0 43.1 42.3 14.5
300~4002t& 100.0 41.2 50.2 8.6
4008t O 4 100.0 35.4 55.8 8.8

20243 Hetde F/ETE APSIRA

- 195 -



4 - 6. EFTYUAY - (4) 7IHAZE

T = Al Gl s 7[EF = Al

2 0244 100.0 56.6 36.7 6.7
2 0224 100.0 56.4 385 50
CA 9 485

s % @ 100.0 65.1 30.0 4.9
= & 4 100.0 73.0 18.2 8.8
A £ & 100.0 47.6 40.9 11.5
g8 =24 100.0 33.3 64.1 2.6
< 2

= Af 100.0 55.2 35.6 9.2
o Af 100.0 58.1 37.9 4.0
Co o

15~29A 100.0 35.8 47.7 16.5
30~39A 100.0 25.0 50.3 24.7
40~49A 100.0 46.8 50.9 2.3
50~509MA 100.0 51.4 42.7 59
60A o4 100.0 71.9 25.7 2.4
65AM O % 100.0 75.0 22,6 2.4
¢ Tt H 4

s & © of 100.0 75.6 22.1 2.3
il = 100.0 54.5 36.9 8.6
Cf £ 100.0 33.6 55.8 10.6
M = o & 100.0 22.6 68.4 9.0
(ZAUSEIED

Ol 2 100.0 42.8 43.4 13.7
Hi & & A S 100.0 54.5 40.0 5.5
Ab /o E 100.0 75.2 216 3.2
(BAEEES

= & 100.0 51.5 40.9 7.6
2 2 HIAEE 100.0 64.8 30.0 5.2
N T =

a2 o E 100.0 35.5 57.0 7.6
A = 100.0 41.9 49.1 9.0
M H| &/ T Of 100.0 54.6 36.5 8.9
s 3 9 ¢ 100.0 56.6 38.9 4.4
N/ =7 100.0 61.5 32.4 6.0
i 2l 100.0 22.7 47.9 294
P L25HES

1008H& Ot 100.0 78.8 18.0 3.2
100~2008H& 100.0 65.6 30.0 4.4
200~3008t¥ 100.0 48.5 38.7 12.8
300~4002t& 100.0 44.2 46.1 9.6
4008t O 4 100.0 42.7 51.6 5.7

20243 Hetde F/ETE APSIRA

- 196 -



T = Al g8 o R 7|BF EW Al

2 02 4 4 100.0 87.5 9.6 2.8
2 022 4 100.0 88.5 8.7 2.8
-

Cl = “ 100.0 95.1 4.4 0.5
= = “ 100.0 85.4 7.0 7.6
A = “ 100.0 87.7 8.3 4.0
gz d 100.0 69.8 27.2 3.0
<A 5 )

= At 100.0 86.6 9.6 38
o At 100.0 88.6 9.6 1.8
Co o

15~29 A 100.0 78.4 14.0 7.6
30~39A 100.0 78.8 14.3 6.9
40~49A 100.0 88.6 11.4 0.0
50~59A4 100.0 84.9 12.5 2.6
60Al ©f % 100.0 92.2 6.1 1.7
65A O A 100.0 93.1 5.1 1.8
¢ Tt F_jl Hoy

s 2 O of 100.0 91.5 6.0 2.5
I ES 100.0 86.9 10.0 3.2
CH = 100.0 83.3 138 2.9
o & o & 100.0 78.8 18.3 2.9
(ZALEED

aj 2 100.0 82.0 12.4 5.6
B ¢ A A & 100.0 87.4 10.2 2.4
AbE /0o 2 100.0 93.2 53 1.5
(BAEEE>

= & 100.0 86.4 1.1 2.4
2 3 HIARS 100.0 89.3 7.2 3.5
A g g

q4 2/ 88 100.0 88.3 1.7 0.0
Al = 100.0 85.6 14.4 0.0
M H[ A / Tt Oj 100.0 87.3 8.9 38
s 3 9 ¢ 100.0 86.5 1.3 2.2
N/ =7 100.0 86.8 11.2 2.0
i 2l 100.0 74.6 12.3 13.0
IFRALAEES

1002t 02k 100.0 95.8 2.4 1.8
100~2008H¥ 100.0 88.1 9.8 2.2
200~3008t& 100.0 84.3 9.8 6.0
300~4008t& 100.0 81.5 16.6 1.9
40093 Of 4 100.0 84.7 12.9 2.4
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4 - 6. 2 FTYUAY - (6) El AN EFS FUS= ClF(AEE) (ThF SE)

(EH9 %)

AEo| | stzol |AEE | TSR | zoi0i0 221102
- 2 A éoaw e (BN MBOL | Jas g [ orers | 1E
- - FOM | QAoIM | T F -

20244 100.0 54 22.9 5.6 34.2 0.3 29.9 1.7
<29 &g

s 7 d 100.0 19.6 25.0 0.0 40.9 0.0 14.5 0.0
= 7 & 100.0 3.2 28.4 4.6 37.8 0.0 25.9 0.0
NosH 100.0 7.9 20.7 8.9 39.9 1.2 18.7 2.7
g4 100.0 1.5 22.1 5.4 2838 0.0 40.2 2.0
< & )

e At 100.0 Bic 22.7 6.0 36.8 0.0 30.7 0.6
o At 100.0 8.0 231 5.1 31.0 0.7 28.9 3.1
<@g 38 2>

15~29MN 100.0 2.1 30.2 7.4 425 0.0 15.0 2.8
30~394 100.0 55 22.3 2.2 34.0 0.0 36.0 0.0
40~494 100.0 10.2 26.5 3.6 39.6 0.0 20.1 0.0
50~594 100.0 10.4 18.3 8.9 282 2.0 32.1 0.0
60AM o4 100.0 2.8 16.7 5.2 26.7 0.0 44.8 3.7
65AM o4 100.0 26 18.6 0.0 24.7 0.0 48.2 58
T B

s & O of 100.0 3.4 20.3 5.5 245 0.0 41.9 4.5
| = 100.0 4.5 22.8 1.9 37.4 0.9 32,6 0.0
CH = 100.0 7.1 24.7 8.8 37.1 0.0 20.4 1.8
o = o 4 100.0 10.3 19.9 8.1 30.1 0.0 31.6 0.0
(ZOENED

Oj = 100.0 2.4 29.1 3.9 36.5 0.0 28.1 0.0
i 2 2 RS 100.0 6.7 19.9 7.0 35.3 0.6 29.1 1.4
AME/OZ 100.0 8.5 17.8 4.8 24.2 0.0 37.3 7.3
(BAZEE

o & 100.0 3.7 233 7.4 36.9 0.0 28.7 0.0
= U HIARZS 100.0 9.8 21.8 1.1 21.3 1.1 32.8 6.1
CAH " 80

“=/E e 100.0 7.8 26.3 2.7 49.6 0.0 13.6 0.0
Af = 100.0 0.0 40.2 5.4 39.8 0.0 14.6 0.0
M H| A/ B oj 100.0 5.2 19.3 5.2 35.7 0.0 345 0.0
s 8 9o ¥ 100.0 1.7 18.0 2.2 26.5 0.0 51.6 0.0
Ns =R 100.0 3.0 215 14.2 31.6 0.0 29.7 0.0
o oL 100.0 6.7 13.6 22.9 50.0 0.0 6.7 0.0
tRa5E

10023 O/ 100.0 12.3 27.9 0.0 242 0.0 29.5 6.2
100~200¢H 100.0 0.0 29.8 0.0 29.2 0.0 383 2.8
200~3008HY 100.0 1.4 26.6 7.0 343 0.0 30.7 0.0
300~4008H 100.0 14.9 121 4.0 346 0.0 345 0.0
40082l o4 100.0 3.9 20.7 9.4 39.3 1.0 23.4 2.3
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4 - 6. FFTYUAY - (7) B 290N E2FS FYUst= olR(42EE) (s S8)

(&9l %)

HEo| | ol | TABE | OET | 20000 221102
2 = A | DB | iy [EeAol o | ERECANASE ey
s 2 zopy | oy | @

2 0 2 4 4 100.0 8.4 22.2 9.1 374 1.0 18.0 39
CA 9 48 )

= 2 i 100.0 14,7 23.6 15.5 36.0 0.9 35 5.8
= 2 i 100.0 9.3 21.1 34 38.8 2.7 24.7 0.0
Al 2 i 100.0 10.9 21.3 10.1 431 1.6 7.5 5.5
dFzozAH 100.0 1.2 22.4 51 329 0.0 36.3 2.1
<A o )

= At 100.0 7.4 22.6 10.4 39.2 0.8 17.3 2.2
g9 At 100.0 9.6 21.8 7.4 35.2 1.2 18.8 6.0
CH P

15 ~29MA 100.0 472 30.6 8.3 41.6 0.0 8.0 7.3
30~ 394 100.0 6.4 20.9 17.3 35.9 0.0 19.5 0.0
40~ 49 A 100.0 17.4 21.7 6.2 36.7 1.4 14.7 2.0
50~59A 100.0 11.4 19.7 49 38.5 2.0 20.7 2.8
6 0AM O 4 100.0 56 16.2 9.2 33.6 1.6 28.4 5.4
65 M O 4 100.0 41 16.9 7.7 32.1 1.6 30.1 7.4
Cote oy

= & O] G 100.0 6.9 18.0 48 33.8 1.3 27.6 7.6
i = 100.0 7.6 21.3 59 37.3 1.7 21.5 4.6
CH = 100.0 9.6 249 12.9 38.8 0.3 11.3 2.2
i & O] 4 100.0 7.6 21.1 14.2 39.3 0.0 17.7 0.0
CE O

aj = 100.0 572 30.4 7.1 37.0 0.0 16.9 34
Hi & A & & 100.0 11.0 18.6 10.9 38.9 1.1 16.3 3.1
At &8 /0o = 100.0 5.8 13.5 6.4 31.7 3.2 29.9 9.5
(BHES

=] Y 100.0 7.1 21.0 11.0 38.8 1.0 18.5 2.6
A0 2 HIFARE 100.0 10.7 24.5 5.4 349 0.9 171 6.4
CH Qo>

2/ e 100.0 8.5 20,5 22.4 36.3 0.0 8.3 40
Al =2 100.0 2.1 40.9 3.3 42.4 2.4 9.0 0.0
A H| A& / Tt Of 100.0 10.9 15.3 8.3 391 2.3 23.2 0.9
s 2 o ¢ 100.0 49 21.4 2.8 329 0.8 31.7 5.4
Ns/ 5 100.0 7.1 16.6 12.7 37.0 0.0 23.2 34
ot ol 100.0 8.0 9.3 24.0 547 0.0 4.0 0.0
GtRASE)

17000F& O]OF 100.0 10.4 23.7 0.0 26.9 1.2 20.9 16.8
100~2008+<] 100.0 4.0 16.5 2.2 37.2 0.0 379 2.2
200~3000r< 100.0 1.8 30.5 7.8 375 0.9 19.4 2.1
300~4008+2 100.0 16.0 15.2 6.9 37.8 0.0 21.0 3.1
4000F3 O] 4t 100.0 9.3 21.3 14.4 39.7 1.6 10.8 2.9
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4 - 6. S BTYUANY - (8) El AHoM EFZ TUSH= olF(2F) (CIE SH)
(St : %)
n ZAHE | YT | 200
2 = A | AEN | aEiy (el amol | ERECEASE e
§ A | gory | qojn | R ?
202 4 H 100.0 10.9 21.8 6.7 45.2 0.6 11.8 2.9
REEE
= £ ! 100.0 14.5 22.2 6.1 49.6 0.6 3.2 3.8
= £ ! 100.0 15.9 16.0 7.8 47.4 0.6 11.7 0.5
M g ! 100.0 11.4 19.5 9.2 45.2 0.8 9.8 4.1
g0 # 100.0 3.3 26.1 4.5 38.1 0.6 26.2 1.3
CH
= At 100.0 11.3 21.5 6.3 45.9 0.6 12.2 2.1
9 At 100.0 10.4 221 1.2 443 0.7 11.4 3.8
TR
175 ~29MNA| 100.0 11.0 24.5 5.3 471 0.0 6.0 6.1
30~39M4A 100.0 9.7 20.1 12.9 44.2 0.0 12.4 0.7
40~49A 100.0 14.3 23.3 6.7 45.3 0.6 7.7 2.0
50 ~59MX\| 100.0 13.3 18.5 5.4 46.7 1.6 12.4 2.0
6 0AM O 4 100.0 75 22.2 55 43.0 0.8 181 2.9
65 M O 4 100.0 6.8 24.0 5.8 41.4 0.3 17.4 4.1
Coe o
= & O o 100.0 8.2 19.7 3.4 44.6 0.3 19.0 47
I = 100.0 13.6 21.3 4.9 431 1.0 12.6 3.6
CH = 100.0 9.6 23.8 9.8 46.9 0.5 7.5 1.9
0 & ©of A 100.0 10.6 17.9 9.2 499 0.0 12.4 0.0
(BANEE
gl =z 100.0 10.3 25.4 4.6 44.6 0.0 11.3 3.6
Hi & 2t A S 100.0 11.4 20.6 7.7 46.2 0.6 11.2 2.1
A" /O E 100.0 9.8 18.3 7.0 40.8 2.3 16.3 55
BAHEED
= o 100.0 9.8 21.5 6.9 46.7 0.7 12.1 2.3
2% 2 HEARS 100.0 13.0 22.4 6.5 421 0.4 11.3 4.3
EEEE
HE /e 100.0 11.8 20.8 10.8 480 0.0 7.1 1.6
At g 100.0 9.6 32.1 5.3 44.6 1.2 7.3 0.0
A H| A/ Tk Of 100.0 10.3 18.7 4.5 47.3 2.1 13.9 3.2
s 8 o ¢ 100.0 52 24.4 3.7 439 0.9 18.7 3.3
s/ =2 100.0 12.3 16.4 6.8 479 0.0 13.3 3.2
™ el 100.0 14.0 12.5 16.3 52.6 0.0 4.7 0.0
e PSR
1008t 0Ojgr 100.0 5.8 26.8 1.8 431 0.0 14.7 7.8
1700~2008tH& 100.0 14.9 18.9 5.2 43.2 0.8 16.2 0.7
200~300%tH& 100.0 7.2 25.9 4.7 44 4 0.5 15.0 2.4
300~4008F 100.0 15.9 16.7 1.2 443 0.0 14.2 1.8
4008t O 4 100.0 11.4 20.9 9.5 471 1.1 7.0 3.0
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4 - 6. S BTYUANY - (9) El AN E2FS U= olIFHAIE) (K S8
(St : %)
n ZAHE | YT | 200
2 = A | AEN | aEiy (el amol | ERECEASE e
§ A | gory | qojn | R ?
202 4 H 100.0 9.4 241 6.7 438 0.8 12.1 3.0
REEE
= £ ! 100.0 12.2 27.4 5.7 47.5 0.9 2.5 3.8
= £ ! 100.0 11.4 19.4 8.5 46.1 0.7 12.8 1.2
M g ! 100.0 11.5 20.9 89 438 1.0 9.7 4.2
g0 # 100.0 2.7 25.3 4.8 38.4 0.6 26.9 1.4
CH
= At 100.0 9.5 23.2 7.0 44.6 0.6 12.6 2.5
9 At 100.0 9.3 25.1 6.3 43.0 1.1 11.5 3.7
TR
175 ~29MNA| 100.0 8.6 26.9 6.2 451 0.0 6.2 7.1
30~39M4A 100.0 9.1 24.4 10.9 42.4 0.0 12.3 0.8
40~49A 100.0 11.3 26.0 1.4 43.2 0.7 9.5 1.8
50 ~59MX\| 100.0 12.2 20.8 5.7 46.3 1.7 11.2 2.1
6 0AM O 4 100.0 7.2 234 5.3 42.4 1.3 17.7 2.7
65 M O 4 100.0 57 26.1 5.3 41.4 0.8 17.2 3.5
Coe o
= & O o 100.0 7.4 22.5 3.1 43.2 0.8 18.9 4.1
I = 100.0 11.5 24.6 4.4 41.2 1.1 13.2 4.0
CH = 100.0 9.0 24.9 10.2 46.0 0.7 1.2 2.0
tf & o 4 100.0 59 20.9 9.8 48.1 0.0 15.1 0.0
(BANEE
| z| 1000 85 276 55 419 0.0 122 43
S At S| 1000 9.9 232 75 453 0.8 1.1 22
Abg /o 2] 1000 8.9 20,5 5.2 405 33 17.1 45
BAHEED
= o 100.0 83 23.7 6.7 45.3 0.8 12.9 2.3
2% 2 HEARS 100.0 11.8 25.0 6.7 40.6 1.0 10.3 4.6
EEEE
e/ ®e| 1000 105 25.2 04 461 0.0 7.0 18
At g 100.0 3.2 36.8 6.4 434 1.4 8.8 0.0
A H| A/ Tk Of 100.0 9.9 19.9 4.7 46.9 2.2 14.4 2.0
s 8 o ¢ 100.0 4.6 247 3.4 431 0.8 19.8 3.5
s/ =2 100.0 11.9 18.9 7.1 44.6 0.0 13.5 4.0
™ el 100.0 11.7 14.8 16.3 52.6 0.0 4.7 0.0
e PSR
1008t 0Ojgr 100.0 55 30.5 0.5 40.6 0.8 14.9 7.4
1700~2008tH& 100.0 11.7 18.7 5.4 449 0.9 17.6 0.8
200~300%tH& 100.0 8.1 27.3 3.6 42.7 0.5 15.2 2.6
300~4008F 100.0 14.9 19.5 7.3 41.4 0.0 14.7 2.1
4008t O 4 100.0 8.4 23.8 10.5 46.2 1.4 6.7 3.0
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4 - 6. EETYAY - (10) Et AHoM EF2

Ust= ol (s IARY (tHE 8

(£t

: %)

HEo| | ol | TABE | OET | 20000 221102
2 = A | DB Sl [meaol apmel | TRESHIAFEEE ey
s 2 zopy | oy | ®

2 0 2 4 4 100.0 6.5 19.6 55 37.1 1.6 26.9 2.8
CA 9 48 )

= 2 i 100.0 20.6 20.6 0.0 40.7 2.4 8.5 7.2
= 2 i 100.0 94 25.4 3.0 39.9 0.0 22.3 0.0
Al 2 i 100.0 45 19.2 15.6 42.0 2.5 13.4 2.6
dFzozAH 100.0 0.7 16.8 2.3 31.2 1.4 452 2.4
<A o )

= At 100.0 5.1 18.9 48 38.3 1.7 28.8 2.5
g9 At 100.0 8.2 20.5 6.5 35.7 1.5 24.6 3.1
CH P

15 ~29MA 100.0 54 23.8 9.7 435 0.0 11.3 6.4
30~ 394 100.0 0.0 10.8 6.2 4372 0.0 39.8 0.0
40~ 49 A 100.0 13.8 19.2 48 39.9 0.0 22.2 0.0
50~59A 100.0 12.2 20.9 2.9 35.2 53 23.5 0.0
6 0AM O 4 100.0 3.0 19.6 472 29.6 1.3 38.0 4.4
65 M O 4 100.0 0.0 19.3 1.1 29.9 0.0 428 6.9
Cote oy

z & O & 100.0 6.6 21.6 4.0 29.5 0.0 345 3.8
i = 100.0 6.4 171 52 36.8 2.9 28.4 3.1
CH = 100.0 55 20.3 7.3 448 1.6 18.5 2.0
i & O] 4 100.0 12.1 22.6 41 27.2 0.0 339 0.0
CE O

aj = 100.0 5.0 234 4.7 38.4 0.0 25.9 2.6
Hi & A & & 100.0 7.3 18.5 6.1 39.2 2.1 25.1 1.7
At &8 /0o = 100.0 6.5 14.2 45 21.1 3.7 40.6 9.3
(BHES

=] Y 100.0 5.0 19.6 53 38.9 1.9 29.3 0.0
A0 2 HIFARE 100.0 9.6 19.7 59 334 0.9 21.8 8.6
CA Yo

4 2/ & g 100.0 13.2 17.3 3.1 471 0.0 19.4 0.0
Al =2 100.0 0.0 413 3.0 39.8 0.0 15.9 0.0
AN H| A/ TFOj 100.0 6.6 21.0 43 34.6 53 28.2 0.0
s 2 o ¢ 100.0 1.2 18.6 1.0 32.8 2.9 434 0.0
N5/ B2 100.0 8.1 13.5 79 39.3 0.0 31.3 0.0
ot ol 100.0 0.0 6.7 24.2 549 0.0 14.2 0.0
7 a~2E4H)

17000F& O]OF 100.0 10.0 19.3 0.0 30.4 0.0 28.7 11.6
100~2008+<] 100.0 55 23.1 1.4 31.6 2.6 335 2.3
200~3000r< 100.0 4.6 18.8 2.8 35.8 0.0 346 3.3
300~4008+2 100.0 12.6 12.6 10.8 38.8 0.0 25.2 0.0
40082 O At 100.0 4.4 22.2 7.8 40.9 34 19.4 1.9
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4-7. 2URE WY YA (UF 8T
T %)
5 s o | B2e | a3 |weme| MUE | amw | moy | moy |
= ost | 22 |mmata| 2, |ANhM| mh | e
O O O O
2 0 2 4 4 100.0 27.4 20.6 31.9 10.0 2.7 5.0 2.1 0.3
2 0 2 2 4 100.0 26.3 26.8 23.0 7.8 41 7.9 3.7 0.3
BEEE
5 =2 . 100.0 26.9 21.0 33.2 12.9 1.4 3.7 0.8 0.0
= =2 . 100.0 24.4 19.2 31.9 41 2.3 10.0 6.1 1.9
A =2 . 100.0 29.6 23.1 29.8 6.5 45 4.4 2.2 0.0
400z A 100.0 27.9 17.4 31.4 12.6 3.7 4.8 2.1 0.1
CH g
E At 100.0 26.9 20.2 31.6 10.5 2.8 5.4 2.3 0.3
o At 100.0 27.8 21.1 32.2 9.5 2.5 45 2.0 0.3
R
15 ~29 X 100.0 30.1 23.9 30.7 9.4 2.5 2.6 0.7 0.0
30~ 39MA 100.0 22.3 20.9 31.7 14.5 3.7 39 3.1 0.0
40~ 49N 100.0 28.3 16.7 33.2 7.8 4.8 6.2 3.0 0.0
50 ~59M4A 100.0 27.0 20.5 30.9 10.8 3.2 4.4 3.1 0.2
6 0AM O 4 100.0 27.5 20.7 32.3 9.7 1.8 5.7 1.8 0.5
65 M O 4 100.0 27.6 20.3 32.6 9.8 1.9 5.5 1.7 0.6
KR
s 2 9 ot 100.0 27.0 20.6 31.7 10.9 2.0 5.7 1.7 0.5
i = 100.0 28.7 20.5 33.1 7.6 3.0 46 2.3 0.2
CH = 100.0 26.7 21.1 30.9 11.5 3.1 45 2.0 0.1
i & O] 4 100.0 23.0 18.2 29.5 14.4 4.0 3.7 7.3 0.0
CZOIAERE)
aj = 100.0 28.7 21.6 29.6 10.4 2.9 46 2.2 0.0
Hf & A & S 100.0 27.1 20.7 33.0 9.1 2.9 4.8 2.1 0.3
At 8 /o & 100.0 26.9 19.5 31.1 12.3 1.8 5.8 2.1 0.5
AAES
= & 100.0 27.6 20.2 31.6 10.8 2.5 5.1 2.2 0.2
Al 2! HIZAIRS 100.0 27.1 21.3 324 8.9 3.0 47 2.1 0.5
EEEE
a4 8 /2 g 100.0 23.8 24.1 31.1 14.1 1.4 2.6 2.4 0.4
Al 2 100.0 23.1 23.4 33.8 15.1 1.7 2.4 0.5 0.0
A H| A / T Of 100.0 29.2 16.5 32.7 9.0 2.7 7.5 2.4 0.0
s @ o ¢ 100.0 29.0 21.7 29.2 8.7 2.7 5.7 2.8 0.3
N5/ B2 100.0 28.3 16.8 32.0 13.0 2.2 6.1 1.4 0.2
= ol 100.0 28.7 23.9 36.8 1.7 5.7 0.0 3.2 0.0
OtpaSE
10082l Ofar 100.0 30.2 20.9 31.6 8.3 1.1 4.8 1.9 1.2
100~2008+H 100.0 27.8 17.0 34.5 10.2 3.7 5.5 1.4 0.0
200~3008% 100.0 24.0 21.8 32.3 11.5 1.9 6.5 2.1 0.0
300~4008r< 100.0 28.7 16.5 34.5 10.0 45 46 1.2 0.0
4009tel o4 100.0 26.4 23.1 29.6 10.5 3.2 4.0 3.1 0.0
202494 Metgde HdT ABIRAL



AN G
HIZHQ A o0 |\uM gE| ZA
T A | woa | e 922 T e | mag

2 02 4 4 100.0 9.1 23.6 21.9 18.3 19.7
2 022 4 100.0 3.6 12.4 34.1 28.3 17.3
CA 9 48 )

Gl £ ! 100.0 6.5 17.8 26.1 22.9 20.4
= £ ! 100.0 6.8 32.4 239 10.0 18.7
M £ ! 100.0 13.5 27.6 14.3 17.7 17.9
g0 # 100.0 11.7 25.5 20.2 14.7 21.5
<M =

= At 100.0 10.1 22.9 22.0 171 20.3
q At 100.0 8.1 24.4 21.9 19.6 19.2
TR

1T5~29A 100.0 15.2 18.4 13.8 21.9 21.7
30~ 39MX| 100.0 8.7 18.4 235 21.4 14.9
40 ~49MA 100.0 6.7 231 20.3 21.9 21.9
50~59A4A 100.0 8.6 22.5 25.7 171 18.7
60AM O A 100.0 8.3 26.5 22.8 16.5 19.9
65AM O A 100.0 8.2 271 22.1 16.8 19.8
¢ Tt H 4

s & O o 100.0 7.8 26.4 22.6 171 19.9
il = 100.0 9.8 22.5 21.6 191 20.1
o = 100.0 10.0 21.3 21.8 20.1 18.3
tf & o 4 100.0 10.6 19.7 18.1 11.3 271
CZAAEE

gl =z 100.0 13.6 19.6 19.5 18.6 191
Hi & 2t A S 100.0 8.0 23.9 22.3 18.8 20.1
AP’ /O E 100.0 1.7 26.9 23.3 16.8 19.3
BHESE

= o 100.0 8.8 22.8 22.6 18.1 20.4
2% 2 HFSARS 100.0 9.6 251 20.9 18.8 18.7
CHoYoE >

HE /e 100.0 7.1 16.7 271 20.6 221
At g 100.0 13.4 20.2 20.4 21.5 18.7
M Hl &/ BHO4 100.0 89 24.2 22.5 13.8 23.9
s 8 o ¢ 100.0 10.8 26.3 20.3 17.4 19.0
N/ =R 100.0 55 20.6 25.9 185 20.4
B el 100.0 6.5 28.1 12.3 25.8 10.9
7 a~2E4H)

1008t 0Ojgr 100.0 8.8 25.2 23.3 17.3 20.0
1700~2008t& 100.0 6.6 26.0 21.9 171 21.3
200~300%t« 100.0 9.3 21.3 21.0 19.0 20.6
300~4008r 100.0 11.8 22.3 22.4 18.1 18.3
4009tel o4 100.0 9.4 23.1 21.2 19.6 18.7
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T = o | Az = Fagstz

2 02 4 4 2.6 0.6 1.0 2.1 0.4 0.0
2 022 4 1.1 - - 3.1 0.2 0.1
CA 9 48

s & @ 2.3 0.9 0.9 1.8 0.4 0.0
= &7 4# 1.8 0.4 1.1 3.0 0.7 0.1
A 2 3.0 0.3 1.6 2.5 0.4 0.0
gz d 3.4 0.3 0.2 1.8 0.2 0.0
< &

= At 3.2 0.7 0.6 1.9 0.6 0.0
o At 1.9 0.4 1.3 2.3 0.3 0.0
Co o

15~29 A 4.6 0.4 0.7 3.4 0.0 0.0
30~39A 4.9 0.0 4.6 0.9 0.0 0.0
40~49A 3.3 0.0 0.5 1.9 0.5 0.0
50~59A4 1.2 1.5 0.6 2.3 1.2 0.0
60Al ©f % 2.0 0.5 0.7 2.0 0.3 0.0
65AM O 4 2.0 0.6 0.6 1.8 0.2 0.0
¢ Tt F_jl Hoy

s 2 O of 1.9 0.4 0.7 2.4 0.2 0.0
il ES 3.1 0.5 1.0 1.7 0.3 0.0
CH = 2.3 1.0 1.4 2.1 1.0 0.0
tH 2 o & 7.5 0.0 1.6 2.3 0.0 0.0
(ZALEED

aj 2 4.6 0.6 1.4 2.6 0.0 0.0
B ¢ A A & 2.1 0.7 1.0 1.8 0.7 0.0
AbE /0o 2 2.0 0.3 0.6 2.5 0.2 0.0
(BAEEE>

= & 2.8 0.5 1.1 1.9 0.5 0.0
2 3 HIARS 2.2 0.8 0.8 2.4 0.3 0.0
A g g

q4 2/ 88 4.3 0.6 0.0 1.3 0.3 0.0
Al = 1.2 0.0 0.0 3.4 1.2 0.0
M Hl & /T oOf 3.3 0.2 1.1 1.1 0.2 0.0
s 3 9 ¢ 1.5 0.4 0.9 1.9 0.5 0.0
N/ =7 3.2 0.9 2.1 2.1 0.5 0.1
i 2l 4.9 0.0 3.4 4.8 0.0 0.0
IFRALAEES

1008H& Ot 1.7 1.0 0.5 1.8 0.1 0.0
100~2008H¥ 2.9 0.4 0.3 2.3 0.3 0.1
200~3008t& 2.6 0.8 1.8 2.4 0.3 0.0
300~4008t& 3.4 0.0 0.8 1.3 0.8 0.0
40083 O 2.8 0.4 1.3 2.4 0.7 0.0

20243 AHetH =
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4-9 AY SAAS 84 - (1) AF 40 ¥ SAAE (5 2T

(TS %)

o TH& NS
T = Al Apt it 27 ) T | EOE HAT 7|Ef

2 02 4 4 100.0 34.5 1.2 8.7 335 13.9 4.6 2.0 1.6
2 022 4 100.0 38.7 2.7 8.8 28.2 16.4 1.7 1.5 2.0
-
Cl = e 100.0 36.3 1.7 6.6 36.1 14.9 2.1 1.9 0.6
= = e 100.0 38.0 0.1 7.8 32.0 10.4 7.1 2.6 1.8
A 2 100.0 34.8 1.8 6.8 31.4 15.7 5.7 2.2 1.7
gz d 100.0 26.4 0.3 17.8 31.0 12.0 7.3 1.4 3.9
<A 5 )
= At 100.0 34.7 1.4 8.2 33.9 13.1 5.0 2.0 1.6
o At 100.0 34.3 1.1 9.3 33.1 14.7 4.1 1.9 1.6
g g 8o
15~29 A 100.0 35.8 1.6 9.9 34.2 11.8 4.2 1.3 1.0
30~39A 100.0 35.6 1.6 10.1 29.9 11.0 6.2 4.2 1.5
40~49A 100.0 335 0.9 9.3 33.3 14.5 2.8 4.4 1.3
50~59A4 100.0 34.4 1.2 8.7 32.9 14.5 5.0 1.2 2.1
6 0 AN O 4 100.0 34.2 1.2 8.1 34.2 14.5 4.6 1.5 1.6
65 AN O 4 100.0 34.8 1.2 8.5 34.2 14.1 4.1 1.6 1.5
¢ Tt F_jl Hoy
s 2 O of 100.0 34.3 1.1 8.5 34.0 14.5 4.8 1.2 1.6
I ES 100.0 35.3 1.3 8.3 33.6 13.8 4.4 1.7 1.5
CH = 100.0 34.0 1.2 9.5 32.8 12.8 4.1 3.8 1.8
o & o & 100.0 32.7 2.3 10.0 31.5 15.9 7.6 0.0 0.0
(ZALEED
aj 2 100.0 383 0.6 8.8 34.9 10.8 3.8 1.7 1.2
Hf € 2t Q! & 100.0 33.4 1.3 8.5 33.1 15.2 4.9 2.3 1.4
AbE /0o 2 100.0 33.9 1.6 9.4 334 13.3 4.5 1.2 2.6
(BAEEE>
= e 100.0 34.6 1.3 8.8 324 14.4 5.1 1.8 1.6
2 2 HISAES 100.0 34.3 1.1 8.6 35.3 13.0 3.8 2.3 1.7
CH e
q4 2/ 88 100.0 41.5 1.3 5.6 32.7 13.8 4.8 0.0 0.4
Al = 100.0 34.6 1.7 11.6 30.5 11.6 4.7 4.3 1.0
M Hl & /T oOf 100.0 37.0 0.5 7.8 34.9 1.1 3.9 2.5 2.3
s 3 9 ¢ 100.0 32.3 0.4 9.9 31.8 14.6 7.2 1.4 2.4
N/ =R 100.0 31.6 1.9 9.4 335 18.3 3.5 1.4 0.3
i 2l 100.0 31.4 91 7.9 21.6 17.9 5.0 3.3 3.9
Ot a2s5ED
1002t 02k 100.0 33.6 1.2 7.6 34.3 16.2 4.4 1.2 1.4
100~2008H¥ 100.0 36.8 0.5 8.9 35.8 11.4 3.9 1.4 1.3
200~3008t& 100.0 338 1.8 8.5 354 11.6 4.2 2.8 1.8
300~4008t& 100.0 37.3 0.6 7.0 35.0 10.7 5.1 3.3 1.1
4000t oY 100.0 33.4 1.5 10.6 29.7 16.0 5.1 1.8 2.0
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4-9 A% S 84 - (2) ES 24 ol

r
4o

= B/tA50| | 717880 | Y22
T = Al %1;52';' = R HESH=

—T | E=ooz | ygsing | Egoos
20244 100.0 43.9 20.4 6.8 24.9
20224 100.0 46.8 20.4 56 24.4
<A Ao
z & & 100.0 47.7 143 7.4 28.4
£ & & 100.0 51.7 185 14.2 14.7
S 100.0 41.8 24.2 4.5 21.7
Troa2 100.0 305 32.2 2.2 29.0
<A =R
e 2t 100.0 41.0 22.2 6.1 26.3
o 2t 100.0 47.0 185 7.6 23.4
-
15~29A 100.0 50.4 21.2 1.9 22.8
30~39A4 100.0 57.2 11.4 5.2 24.0
40~49A 100.0 32.2 25,5 3.0 35.0
50~59A 100.0 48.3 16.4 5.3 26.1
60A o4 100.0 411 22.0 9.9 22.6
65AM o4 100.0 39.9 22.9 9.5 22.6
¢ Tt F_jl Hoy
3 & o @ 100.0 42.5 22.5 8.8 21.1
inl E 100.0 45.0 16.7 7.8 27.6
h & 100.0 47.3 21.3 2.3 25.7
o & o 4 100.0 20.2 26.8 6.9 384
(ZALEE>
l 2 100.0 49.2 20.1 5.2 22.2
i 2 2k QL & 100.0 42.1 20,5 7.4 25.7
A /o E 100.0 43.9 20.4 6.7 25.1
(BAEE 2
# ¢ 100.0 41.3 21.8 6.4 27.6
) U HRAEE 100.0 48.1 18.1 7.5 20.5
N R
d e/ 100.0 47.9 17.2 4.0 309
At 2 100.0 41.2 21.4 2.8 346
A Hl A/ ol 100.0 45.4 21.4 4.7 27.4
= 100.0 34.1 27.1 9.8 23.4
N/ = 7 100.0 44.2 17.2 6.3 29.4
T ol 100.0 36.1 26.1 6.4 235
TtRAEE)
1008 O|gt 100.0 47.0 22.0 8.8 18.3
100~2002H 100.0 41.3 15.0 9.0 30.8
200~3002H 100.0 42.1 19.7 55 28.7
300~4002H 100.0 45.1 16.2 6.2 27.3
4008t ol 100.0 433 24.0 5.0 24.1
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3
o

: %)

[l
y oo 2AE o] el el [erame stopr
T g A (Rl 5T | TR Sogl (0B | @A M (TSI B S0 T
=2 l:of_ll:r_ %) qIHOI-AI-% — OO

2 02 4 @A) 1000 239 129 9.6 46 176 55 1.8 155 8.4 0.3
2 02 2 @] 1000 240 179 118 57 137 7.6 23 127 4.0 0.2
-

Cl = # | 1000 203 140 11.2 49 139 5.0 1.9 182 106 0.0
= & #| 1000 291 8.4 7.9 33 201 6.1 01 176 7.1 0.3
A = & | 1000 224 142 100 33 202 7.3 3.7 136 4.3 1.1
g0 2 #]| 1000 302 122 7.0 6.8 20.9 3.6 0.6 9.3 9.4 0.0
<A 5 )

= A 100.0 231 128 9.2 6.6 165 5.0 20 174 7.1 0.4
o A 1000 247 130 101 25 188 6.0 1.6 134 9.7 0.2
g g 8o

15~29 A | 1000 206 181 7.7 7.7 161 6.3 7.2 10.7 5.6 0.0
30~39A | 1000 116 237 117 6.3 135 165 27 10.7 3.2 0.0
40~49 A4 | 1000 172 129 142 7.7 149 7.2 1.7 135 101 0.5
50~59 A | 1000 224 137 9.3 51 154 3.3 1.8 209 8.0 0.2
60AM O 4| 1000 291 9.3 8.8 25 202 3.7 0.3 158 9.7 0.4
65 KM O 4| 100.0 297 8.4 9.7 26 202 3.7 04 151 9.9 0.4
¢ Tt F_jl Hoy

Z £ o 8| 1000 290 101 96 26 191 35 12 152 94 02
I = | 1000 229 123 9.8 55 16.8 4.1 24 16.2 9.4 0.7
CH Z | 1000 191 17.2 9.3 6.1 156 10.2 1.8 152 5.6 0.0
o & ol 4| 100.0 87 194 9.9 7.7 240 6.1 47 124 7.0 0.0
(ZALEED

aj Z| 1000 226 163 10.1 7.7 159 4.7 45 116 6.5 0.0
Hf @ A & | 1000 222 121 9.3 43 185 6.5 1.5 166 8.5 0.4
AbE /O 2 1000 295 119 102 26 16.7 3.2 0.2 159 9.6 0.2
(BAEEE>

= g 1000 243 125 101 48 17.0 5.0 1.6 164 8.0 0.3
AR HEARS | 100.0 231 135 9.0 43 185 6.2 2.2 139 9.0 0.3
CH e

H 2/ & | 1000 193 148 134 59 140 6.9 36 164 58 0.0
Al £ 1000 221 161 9.8 76 155 2.7 0.6 16.8 8.6 0.0
MHlA/THOf | 1000 259 132 113 41 151 4.5 0.6 138 11.2 0.3
s @ o ¢ 1000 283 104 9.0 36 204 3.4 06 16.0 8.2 0.1
2 '/ = F| 1000 257 111 7.4 48 16.7 55 29 192 6.2 0.5
i el 100.0 49 161 134 65 172 135 34 178 4.9 2.3
Ot a2s5ED

==

1008H Ojgrp 1000 273 118 9.7 29 216 3.8 0.8 125 9.0 0.5
100~2008t& | 100.0 281 7.2 7.4 50 179 4.0 0.5 181 119 0.0
200~3008tA [ 100.0 250 135 108 46 131 6.4 1.5 158 9.3 0.0
300~4008t& | 100.0 152 16,6 136 31 141 4.8 46 190 8.4 0.6
4008t Of4 | 100.0 214 15.0 8.4 6.5 183 7.3 26 149 5.3 0.3
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o AL 21}
seuy| BH 0| 28 | 2| Gae |2
2 = A 9 | S8 oA | TS| wan | B | s
gol | A5 Tmz | FM lwgee | TRES| oy
= gz | ¥ A
2024 9] 1000 350 218 77 99 86 123 38 09
2022 4| 1000 320 247 72 98 77 120 67 00
CA A E
2 = @] 1000 300 333 80 101 69 88 20 08
£ = @| 1000 505 94 52 135 62 92 20 40
4 = @] 1000 322 114 79 78 126 184 97 00
pzoaad| 1000 382 173 86 93 95 156 16 00
Cxoom
o Al 1000 368 22 66 104 74 122 36 08
of x| 1000 330 213 88 94 99 125 40 11
A g EH
15~29A]| 1000 283 160 101 105 88 188 75 00
30~394| 1000 383 265 42 67 93 77 42 31
40~49A4| 1000 297 297 31 148 118 64 45 00
50~59A| 1000 412 199 98 112 56 90 29 04
60M o 4| 1000 351 213 79 86 88 141 29 13
654 o 4| 1000 336 204 85 82 98 157 24 15
¢ Tt F_jl Hoy
2 = o 8| 1000 322 227 77 87 93 161 20 13
= =| 1000 346 26 72 103 86 105 51 11
o} =| 1000 404 2205 76 13 61 95 43 03
= of 4| 1000 200 124 129 98 212 71 75 00
(ZQAMEIES
al s| 1000 324 245 77 103 73 125 47 06
WS el 1000 383 213 78 93 88 95 40 10
Abe /o 2| 1000 285 207 71 112 93 198 23 12
(AAHES
2 ol 1000 36 24 71 M4 91 100 35 10
soloupEs | 1000 340 209 85 75 79 161 41 09
CH oY o>
Mo/ el 1000 362 251 100 85 68 80 26 28
At al 1000 462 142 94 147 77 77 00 00
Mela/mop| 1000 330 244 66 139 85 106 30 00
s 2 of | 1000 374 171 68 115 113 109 38 12
Js /= 2| 1000 322 312 60 100 75 92 29 10
2 ol 1000 279 109 35 83 144 163 187 00
PN
10009 Oj9H| 1000 370 202 86 88 70 145 20 18
100~2000t2l | 1000 340 248 42 111 104 147 02 05
200~3008t2 | 1000 313 197 72 150 78 133 46 13
300~4009t81 | 1000 325 253 97 74 50 99 99 04
4009t of4| 1000 372 215 82 80 111 95 42 04
20243 Qe Y= ATEA



4 - 12 %49 A A4

r
4o

UR2] BE| ag | g mo 010 7197
7 = A | woag | ow | JUIEE I REEN ze
s qg | 2B O AT HEH gz

202 4 H 100.0 13.8 64.5 6.5 4.3 10.7 0.3
CA 9 48 )

= g = 100.0 15.9 65.6 5.6 1.9 10.3 0.6
= g = 100.0 53 73.0 7.0 1.9 12.7 0.0
M g = 100.0 15.5 55.2 9.7 7.6 11.9 0.0
g4 100.0 13.1 67.1 3.6 7.6 8.4 0.2
<M ==

= At 100.0 13.7 64.1 6.4 3.8 11.7 0.2
9 At 100.0 13.8 64.9 6.5 4.7 9.6 0.4
co s

175 ~29MNA| 100.0 8.1 64.3 141 6.6 6.9 0.0
30~39M4A 100.0 8.0 53.7 10.6 1.7 26.1 0.0
40~49A 100.0 18.0 64.2 5.1 5.4 7.4 0.0
50 ~59MX\| 100.0 13.2 66.5 6.1 4.4 9.2 0.7
6 0AM O 4 100.0 15.4 65.6 4.2 3.8 10.6 0.4
65 M O 4 100.0 16.1 64.2 4.2 4.1 11.2 0.3
Coto oo

s € o o 100.0 15.3 64.2 6.1 4.1 10.2 0.1
I = 100.0 13.7 66.1 6.4 4.0 9.2 0.6
o = 100.0 11.0 63.2 7.1 53 13.1 0.3
0 & ©of A 100.0 17.0 60.1 7.6 0.0 15.3 0.0
(ZolNEY>

gl = 100.0 8.6 62.4 12.7 6.1 10.2 0.0
Hf & A U & 100.0 15.7 63.8 5.2 4.1 10.7 0.5
A" /O = 100.0 13.3 68.3 4.0 29 11.3 0.2
EHEE

= & 100.0 14.6 63.9 6.2 4.3 10.5 0.5
2 2 HIFAR—S 100.0 12.4 65.4 6.8 4.3 11.0 0.1
RN

42/ 100.0 15.8 54.0 10.9 4.0 15.3 0.0
At g 100.0 95 69.3 7.9 1.6 9.5 2.3
M H[ A / Tt Oj 100.0 12.9 64.8 5.7 2.3 12.9 1.3
s 8 9o ¢ 100.0 17.9 60.7 4.7 1.7 9.0 0.0
N5 /B2 100.0 13.7 73.3 4.1 2.8 6.1 0.0
™ ol 100.0 9.8 56.8 11.4 3.1 18.9 0.0
7 a~2E4H)

1008t 0O gt 100.0 16.3 65.2 3.6 3.9 10.9 0.0
1700~2008tH& 100.0 13.9 67.7 4.8 2.5 10.8 0.2
200~300%tH& 100.0 13.6 65.3 6.5 4.7 94 0.4
300~4008F 100.0 14.9 61.0 11.2 6.1 5.7 1.1
4000F3 O] 4t 100.0 11.0 63.0 7.8 4.4 135 0.3
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4 - 13. LUHO = HH|5oF Y =AFH (CtF SH)

=

.o |mHEz| S | 5 5t 2 | M) S2AXTH e
- = Al U228 | g0 122 Top E.,:rtc,’fil ‘:'_'ll't”il L S e 7|Ef
e =3 o6& |TdoAl|lTdo &0t (LAl
=

2 02 4 4 100.0 17.2 35.9 8.4 5.6 7.5 14.7 6.0 4.5 0.3
2 022 4 100.0 15.5 40.5 14.8 9.3 7.0 7.5 2.7 2.6 0.1
A9 g

Cl = e 100.0 16.7 355 8.7 6.0 8.3 18.5 3.7 2.6 0.0
= = e 100.0 22.7 45.0 2.9 5.6 3.4 9.0 7.1 2.4 1.9
A = e 100.0 16.0 334 7.3 3.6 10.5 13.9 9.3 58 0.0
gz d 100.0 15.4 32.9 13.6 7.1 5.0 11.4 5.9 8.6 0.0
<A )

= At 100.0 17.8 36.2 7.3 53 8.6 14.2 6.1 4.2 0.4
o b 1000 165 355 9.7 58 6.4 153 5.8 4.8 0.2
N I -

15~29 A 100.0 16.5 29.3 11.6 6.2 8.5 13.1 10.7 4.0 0.0
30~39A 100.0 18.5 37.4 7.5 7.2 10.4 58 8.2 3.9 1.1
40~49A 100.0 16.7 34.2 6.5 4.8 9.0 20.7 3.7 4.4 0.0
50~59A4 100.0 20.7 37.3 8.3 4.4 5.0 15.1 4.5 4.4 0.3
6 0 AN O 4 100.0 15.8 37.3 8.2 57 7.4 15.1 54 4.8 0.3
65 AN O 4 100.0 15.4 37.1 8.2 53 8.0 16.7 4.5 4.6 0.4
¢ Tt F_jl Hoy

s 2 O of 100.0 15.2 38.1 7.9 4.7 6.2 18.5 4.6 4.5 0.3
I = 100.0 18.4 355 9.8 5.6 7.2 13.0 6.3 4.1 0.1
CH = 100.0 17.5 33.3 7.9 7.0 10.4 11.4 6.9 5.0 0.6
o & o & 100.0 24.6 338 3.6 3.4 3.4 16.4 10.6 4.3 0.0
(ZALEHES

aj 2 100.0 16.0 33.0 8.9 7.8 8.3 12.3 10.3 2.7 0.6
i & 2 A &| 1000 177 374 7.8 4.8 6.8  15.1 4.9 53 0.2
A8 /O 2| 1000 168 344 9.6 5.4 89  16.1 4.6 4.0 0.3
(BAHEFE>

= 2 1000 166 370 8.3 56 79 148 5.8 38 0.3
2 3 HIARS 100.0 18.1 34.1 8.5 55 7.0 14.6 6.3 55 0.3
A g g

q4 2/ 88 100.0 22.5 37.5 6.7 53 7.0 12.9 5.6 2.4 0.0
Al = 100.0 17.2 345 10.1 3.3 7.5 15.3 10.0 2.1 0.0
M H[ A / Tt Oj 100.0 12.6 38.6 10.3 4.3 8.1 17.9 54 1.9 0.8
s 3 9 ¢ 100.0 14.9 36.4 8.2 6.3 7.6 15.2 5.7 55 0.1
N/ =R 100.0 14.6 37.1 8.5 8.1 7.6 14.6 4.4 477 0.4
i il 100.0 32.7 36.5 1.8 0.0 13.2 5.0 54 54 0.0
Ot a2s5ED

==

1008k Oj¢t 100.0 17.6 36.3 1.7 4.4 6.7 15.7 6.3 5.0 0.4
100~2008H¥ 100.0 14.1 39.6 8.5 6.3 4.9 17.8 3.9 4.7 0.2
200~3008t& 100.0 16.0 32.9 11.5 7.5 9.4 11.4 6.6 4.2 0.5
300~4008t& 100.0 19.1 34.9 6.9 3.7 10.4 13.6 5.9 5.6 0.0

40093 Of 4 100.0 18.3 35.9 7.6 5.7 7.3 14.9 6.4 3.7 0.2
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4 - 14. B - (1) Bhug 2707

T = Al RUAUCE 27 - _ B
= oo

2 0244 100.0 9.1 100.0 79.4 20.6 90.9
2 0224 100.0 8.6 100.0 97.2 2.8 91.4
CA 9 485

s % @ 100.0 7.0 100.0 80.6 19.4 93.0
= & 4 100.0 141 100.0 92.5 7.5 85.9
A £ & 100.0 8.7 100.0 63.5 36.5 91.3
g8 =24 100.0 10.8 100.0 80.5 19.5 89.2
< 2

= Af 100.0 6.9 100.0 69.6 30.4 93.1
o Af 100.0 1.4 100.0 85.7 14.3 88.6
Co o

15~29A 100.0 5.6 100.0 60.6 39.4 94.4
30~39A 100.0 8.2 100.0 36.5 63.5 91.8
40~49A 100.0 15.5 100.0 93.3 6.7 84.5
50~509MA 100.0 9.2 100.0 84.7 15.3 90.8
6 0AM o 4 100.0 8.5 100.0 81.1 18.9 91.5
65AM o 4 100.0 8.5 100.0 84.4 15.6 91.5
¢ Tt H 4

s & © of 100.0 6.7 100.0 89.1 10.9 93.3
il = 100.0 9.1 100.0 79.9 20.1 90.9
Cf £ 100.0 12.0 100.0 69.8 30.2 88.0
M = o & 100.0 16.3 100.0 84.2 15.8 83.7
(ZAUSEIED

Ol 2 100.0 6.1 100.0 65.1 34.9 93.9
Hi & & A S 100.0 1.1 100.0 77.7 22.3 88.9
Ab /o E 100.0 6.5 100.0 100.0 0.0 93.5
(BAEEES

= & 100.0 9.2 100.0 76.0 24.0 90.8
2 2 HISAES 100.0 8.9 100.0 85.1 14.9 91.1
N T =

a2 o E 100.0 11.5 100.0 40.7 59.3 88.5
A = 100.0 10.8 100.0 74.0 26.0 89.2
M H| &/ T Of 100.0 8.4 100.0 72.8 27.2 91.6
s 3 9 ¢ 100.0 1.3 100.0 95.2 4.8 88.7
s/ R 100.0 5.1 100.0 70.6 29.4 94.9
i 2l 100.0 7.8 100.0 100.0 0.0 92.2
P L25HES

1008H& Ot 100.0 6.3 100.0 81.8 18.2 93.7
100~2008H& 100.0 8.0 100.0 96.8 3.2 92.0
200~3008t¥ 100.0 6.7 100.0 58.5 41.5 93.3
300~4002t& 100.0 8.9 100.0 89.1 10.9 91.1
4008t O 4 100.0 13.8 100.0 /7.3 22.7 86.2
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£r9l %)

T = Al e gRTAC Caul Fojgt

2 02 4 4 100.0 30.4 33.7 16.3 1.6 16.6 1.3
2 022 4 100.0 23.2 36.0 8.7 2.4 25.2 4.5
CA 9 48
Cl = e 100.0 18.4 12.9 36.0 2.7 30.1 0.0
= = e 100.0 39.2 46.2 5.0 0.0 55 4.1
A = e 100.0 28.8 38.6 13.3 2.9 16.5 0.0
gz d 100.0 42.4 48.6 0.0 0.0 7.1 1.9
<A 5 )
= At 100.0 32.2 39.9 1.2 0.0 15.4 1.4
o At 100.0 29.3 29.8 19.6 2.6 17.4 1.3
Co o
15~29 A 100.0 23.4 37.9 14.8 0.0 238 0.0
30~39A 100.0 13.1 36.5 50.4 0.0 0.0 0.0
40~49A 100.0 41.9 29.1 15.6 4.4 8.9 0.0
50~59A4 100.0 23.5 26.9 21.5 3.4 24.8 0.0
6 0A O A 100.0 32.2 37.5 9.2 0.0 18.1 2.9
65A O A 100.0 35.1 38.1 5.6 0.0 18.5 2.7
¢ Tt F_jl Hoy
s 2 O of 100.0 33.9 34.3 6.5 0.0 20.7 4.6
I ES 100.0 26.8 30.0 24.0 2.0 17.2 0.0
CH = 100.0 33.0 34.8 17.2 0.0 15.0 0.0
o & o & 100.0 18.0 48.0 15.2 18.8 0.0 0.0
(ZALEED
aj 2 100.0 30.9 40.4 15.1 0.0 13.6 0.0
B ¢ A A & 100.0 31.3 31.0 18.9 2.2 14.6 1.9
AbE /0o 2 100.0 26.0 40.0 5.6 0.0 28.4 0.0
(BAEEE>
= e 100.0 26.5 40.3 18.8 2.5 9.8 2.1
2 3 HIARS 100.0 37.0 22.6 12.3 0.0 28.0 0.0
A g g
q4 2/ 88 100.0 7.7 238 46.7 8.0 138 0.0
Al = 100.0 21.4 32.9 33.8 0.0 11.9 0.0
M H[ A / Tt Oj 100.0 32.5 48.2 19.3 0.0 0.0 0.0
s 3 9 ¢ 100.0 37.5 45.0 54 2.8 5.2 4.1
N/ =7 100.0 23.9 28.3 9.3 0.0 335 5.0
i 2l 100.0 0.0 100.0 0.0 0.0 0.0 0.0
IFRALAEES
1002t 02k 100.0 28.4 447 0.0 0.0 24.7 2.2
100~2008H¥ 100.0 51.0 29.8 15.1 0.0 4.1 0.0
200~3008t& 100.0 9.8 46.1 34.6 0.0 9.4 0.0
300~4008t& 100.0 21.6 36.0 24.9 0.0 17.4 0.0
40093 Of 4 100.0 34.0 25.8 15.1 3.6 19.3 2.2
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HEE D]
o (QIE{Y | ADIEE | dfelAet | AQEs | wrsms
T = A 520 og 18 18 |5 AAES
SNSZ'8)

2 0 2 4 4 100.0 22.7 233 8.6 22.3 21.4 1.8
2 0 2 2 4 100.0 19.4 227 7.1 26.3 22.6 2.0
CA Y

= =2 i 100.0 22.8 23.0 9.2 24.4 20.0 0.6
= =2 i 100.0 22.8 29.0 5.2 12.8 25.7 4.6
A 2 i 100.0 23.3 18.4 11.6 21.8 21.7 3.1
dFzozAH 100.0 21.4 26.1 5.7 26.0 20.5 0.3
<A o )

= At 100.0 25.8 21.5 79 24.5 18.5 1.8
g9 At 100.0 19.3 25.2 9.5 19.8 24.5 1.7
CoH e

15 ~29MA| 100.0 27.6 17.8 13.7 27.3 10.7 3.0
30~ 394 100.0 24.0 13.9 8.8 279 24.7 0.6
40~ 49 A 100.0 30.3 11.7 14.8 28.2 13.3 1.7
50~59A 100.0 22.5 18.2 10.2 23.7 24.0 1.3
6 0AM O 4 100.0 19.1 32.0 48 17.4 24.8 1.8
65 M O 4 100.0 17.6 345 4.4 16.6 249 2.0
¢ Tt F_jl Hoy

= & O] G 100.0 17.9 335 49 17.4 24.8 1.5
i = 100.0 26.7 19.9 11.1 22.2 18.2 1.9
CH = 100.0 24.5 15.6 9.6 28.5 20.0 1.9
i & O] 4 100.0 17.2 89 16.6 25.2 30.6 1.5
CE ORI

aj = 100.0 24.1 17.9 9.9 29.9 15.7 2.4
Hi & A & & 100.0 23.6 227 8.6 21.8 21.8 1.5
At &8 /0o = 100.0 18.6 30.3 7.4 15.8 26.1 1.8
(BHES

=] & 100.0 23.2 20.2 8.7 23.5 22.6 1.7
A0 2! HIFARE 100.0 21.9 28.1 8.4 20.2 19.5 1.8
CH Qo>

4 2/ & g 100.0 21.2 12.3 8.0 345 22.0 1.9
Al 2 100.0 17.9 21.4 14.7 22.6 22.4 1.0
AN H| A/ TFOj 100.0 25.9 20.8 10.0 20.5 19.7 3.0
s 2 o ¢ 100.0 21.2 26.3 5.7 20.4 25.2 1.2
Ns/ 5 100.0 26.0 18.7 8.4 21.2 23.8 1.9
ot ol 100.0 26.9 11.1 13.3 32.6 16.2 0.0
GtRAS )

17000F& O]OF 100.0 18.0 35.0 5.2 17.0 22.5 2.3
100~2008t<] 100.0 239 28.5 48 17.6 22.4 2.7
200~3000r< 100.0 19.9 19.7 10.0 28.0 21.8 0.6
300~4008+2 100.0 27.5 21.9 10.0 21.5 17.0 2.1
4000F3 O 4t 100.0 25.6 14.4 11.7 25.2 21.6 1.5
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 |0183 o|g3H
20| ont| 2 20| gFf

-4
HT

UE | e | U | BE |2V | 0 | oz
s | ok 20E | 20IE

2 02 4 A| 1000 354 100.0 73.0 461 270 266 0.4 0.2 0.2 646
2 022 @| 1000 295 100.0 9.0 335 355 301 0.9 0.7 0.2 705
-

Cl = & | 100.0 413 1000 722 539 183 27.8 0.0 0.0 0.0 587
= = & | 100.0 316 1000 753 339 413 247 0.0 0.0 0.0 684
A = & | 100.0 365 1000 751 341 409 233 1.6 0.9 0.7 635
g2 #| 1000 219 1000 696 509 188 30.4 0.0 0.0 0.0 781
<A 5 )

= A 1000 356 1000 736 473 262 26.0 0.4 0.4 00 644
o A 1000 352 100.0 725 447 278 27.2 0.3 0.0 0.3 648
g g 8o

15~29 A | 1000 410 1000 621 300 321 379 0.0 0.0 0.0 59.0
30~39A | 100.0 492 1000 598 349 249 381 2.1 2.1 0.0 50.8
40~49AM | 100.0 46,6 1000 754 540 214 246 0.0 0.0 00 534
50~59 A | 1000 382 100.0 748 471 277 244 0.8 0.0 0.8 61.8
6 0AM ©of 4| 1000 278 1000 793 518 275 20.7 0.0 0.0 00 722
65AM O 4| 100.0 26.0 100.0 826 547 279 174 0.0 0.0 00 740
¢ Tt F_jl Hoy

s & ©° of| 1000 278 100.0 80.2 567 235 19.8 0.0 0.0 0.0 722
I = | 1000 385 1000 66.0 421 239 329 1.1 0.6 05 615
CH = | 1000 415 1000 713 379 335 287 0.0 0.0 0.0 585
o & o A 1000 514 1000 956 615 342 4.4 0.0 0.0 0.0 486
(ZALEED

aj Z | 1000 381 1000 57.2 282 290 428 0.0 0.0 00 61.9
Hf ¢ A ¥ & | 1000 383 1000 781 495 286 21.2 0.6 0.4 03 617
A8 /o Zf 1000 250 100.0 748 574 174 252 0.0 0.0 0.0 750
(BAEEE>

= || 100.0 356 100.0 742 469 273 254 0.4 0.4 00 644
AR HEBARS | 100.0 352 100.0 711 446 265 285 0.4 0.0 04 648
CH e

H 2/ & | 1000 386 1000 765 631 134 235 0.0 0.0 00 614
Al £ 1000 552 1000 752 425 327 248 0.0 0.0 0.0 448
MHlA/THOf [ 100.0 298 100.0 732 565 167 2638 0.0 0.0 0.0 70.2
s 8 o ¢ 1000 270 100.0 757 347 409 243 0.0 0.0 00 730
2 '/ = F| 1000 392 1000 70.2 488 213 283 1.6 1.6 0.0 60.8
i ey 100.0 549 1000 798 270 528 202 0.0 0.0 0.0 451
Ot a2s5ED

==

1008t Ojgkf 1000 225 100.0 743 519 224 257 0.0 0.0 0.0 775
100~2008H | 100.0 342 100.0 804 512 292 196 0.0 0.0 0.0 65.8
200~300¢t& | 1000 359 100.0 586 300 286 414 0.0 0.0 0.0 64.1
300~4008t& || 100.0 376 100.0 636 341 294 346 1.8 1.8 00 624

400TF O | 100.0 463 100.0 80.2 538 264 193 0.4 0.0 0.4  53.7
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 |0183 o|g3H
20| ont| 2 20| gFf

-1
M
ra
I
oo
ey
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Z | gors
2 02 4 @A| 1000 354 1000 709 448 262 279 1.2 0.7 05 646
2 02 2 @] 1000 295 100.0 €99 317 382 294 0.7 0.5 0.2 705
-

Cl = & | 100.0 413 1000 720 527 193 275 0.6 0.0 0.6 587
= = = | 100.0 316 1000 690 346 344 31.0 0.0 0.0 0.0 684
A = # | 100.0 365 1000 701 319 382 263 3.6 2.9 0.7 635
g0 2 #| 1000 219 1000 703 487 216 297 0.0 0.0 0.0 781
<A 5 )

= A 100.0 356 1000 715 472 243 269 1.6 1.1 06 644
o A 1000 352 1000 70.4 422 282 289 0.7 0.3 0.3 648
g g 8o

15~29 A | 1000 410 100.0 609 335 274 391 0.0 0.0 0.0 59.0
30~39A | 1000 492 1000 620 389 231 36.0 2.1 2.1 0.0 50.8
40~49AM | 1000 46,6 1000 776 540 236 203 2.0 2.0 00 534
50~59 A 1000 382 100.0 709 432 277 274 1.7 0.8 0.8 61.8
6 0AM ©of 4| 100.0 278 100.0 748 479 269 245 0.8 0.0 0.8 722
65AM O 4| 1000 26.0 1000 765 505 260 225 1.1 0.0 1.1 740
¢ Tt F_jl Hoy

% £ of 3| 1000 278 1000 763 523 240 237 00 00 00 722
I = | 1000 385 1000 678 427 251  30.7 1.6 1.1 05 615
CH = | 1000 415 1000 661 366 295 318 2.1 1.1 1.0 585
o & of A 1000 514 1000 952 66.0 291 4.8 0.0 0.0 0.0 486
(ZALEED

aj Z | 1000 381 1000 61.8 326 291 382 0.0 0.0 00 61.9
Hf ¢ A ¥ & | 1000 383 100.0 73.8 464 274 244 1.9 1.1 0.7 617
At /O 2 1000 250 100.0 725 555 17.0 275 0.0 0.0 0.0 750
(BAEEE>

= |l 100.0 356 1000 71.3 468 245 276 1.2 1.2 00 644
AR HPARZS | 100.0 352 100.0 704 415 289 284 1.2 0.0 1.2 648
CH e

H /& | 1000 386 1000 792 641 151 208 0.0 0.0 00 o614
Al £ 1000 552 1000 71.8 396 321 282 0.0 0.0 0.0 448
MH[A/THOf [ 100.0 298 100.0 727 594 133 257 1.6 1.6 0.0 70.2
s 8 o ¢ 1000 270 1000 680 325 355 320 0.0 0.0 00 730
2 '/ = F| 1000 392 1000 688 492 196 297 1.6 1.6 0.0 60.8
i el 100.0 549 1000 67.7 270 40.7 240 8.2 8.2 0.0 451
Ot a2s5ED

==

1008t gjgkf 1000 225 100.0 688 477 211 31.2 0.0 0.0 0.0 775
100~2008H [ 100.0 342 100.0 816 479 337 184 0.0 0.0 0.0 65.8
200~300¢t& | 1000 359 100.0 60.1 299 302 399 0.0 0.0 0.0 64.1
300~4008t& || 100.0 376 100.0 634 386 247 348 1.8 1.8 00 624

400TF Of4 | 100.0 463 100.0 759 520 238 21.6 2.5 1.3 1.2 53.7
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 |0183 o|g3H
20| ont| 2 20| gFf

-4
HT

U= | e | W | 2T | 2USF| e | A4
Bz | ohz 20IZ | 20hE

2 02 4 @A) 1000 354 100.0 €97 466 231 297 0.6 0.3 03 646
2 02 2 @] 1000 295 100.0 694 31.0 384 298 0.7 0.4 03 705
-

Cl = &= | 100.0 413 1000 70.2 519 184 298 0.0 0.0 0.0 587
= = # | 100.0 316 1000 679 327 352 321 0.0 0.0 0.0 684
A = & | 100.0 365 1000 728 409 319 247 2.5 1.3 1.2 635
g0z 3d| 1000 219 1000 623 516 108 37.7 0.0 0.0 0.0 781
<A 5 )

= A 1000 356 1000 705 501 204 289 0.6 0.6 00 644
o A 100.0 352 1000 689 429 260 305 0.6 0.0 0.6 648
g g 8o

15~29 A | 1000 410 100.0 596 332 264 404 0.0 0.0 0.0 59.0
30~39A | 1000 492 1000 746 453 293 254 0.0 0.0 0.0 50.8
40~49AM| 1000 46,6 1000 783 605 17.7 19.7 2.0 2.0 00 534
50~59 A 1000 382 100.0 67.7 429 248 314 0.8 0.0 0.8 61.8
6 0AM ©of 4| 100.0 278 1000 69.7 484 213 30.0 0.3 0.0 03 722
65AM O 4| 1000 26.0 1000 670 470 200 33.0 0.0 0.0 00 740
¢ Tt F_jl Hoy

% £ of 3| 1000 278 1000 700 492 209 300 00 00 00 722
I = | 1000 385 1000 642 446 197 350 0.8 0.0 0.8 615
CH = | 1000 415 1000 734 425 309 255 1.1 1.1 0.0 585
o & o A& | 1000 514 1000 908 764 145 9.2 0.0 0.0 0.0 486
(ZALEED

aj Z | 1000 381 1000 647 356 291 353 0.0 0.0 00 61.9
Hf ¢ A ¥ & | 1000 383 1000 71.8 486 232 272 1.0 0.5 05 61.7
At /O 2 1000 250 100.0 683 541 142 317 0.0 0.0 00 75.0
(BAEEE>

= 2|l 100.0 356 100.0 694 479 215 299 0.7 0.5 02 644
AR HEBARS | 100.0 352 100.0 70.2 445 257 293 0.4 0.0 04 648
CH e

H /&g | 1000 386 1000 782 633 150 218 0.0 0.0 00 o614
Al £ 1000 552 100.0 777 467 311 223 0.0 0.0 0.0 448
MH[ A /THOf [ 100.0 298 100.0 70.7 550 157 293 0.0 0.0 0.0 70.2
s 8 o ¢ 1000 270 100.0 598 351 247 392 0.9 0.0 09 730
2 '/ = F| 1000 392 1000 674 473 201 326 0.0 0.0 0.0 60.8
i el 100.0 549 1000 67.7 412 265 240 8.2 8.2 0.0 451
Ot a2s5ED

==

1008t Ojgkf 1000 225 100.0 60.5 455 150 395 0.0 0.0 0.0 775
100~2008H | 100.0 342 100.0 705 476 229 295 0.0 0.0 0.0 65.8
200~300¢t& | 1000 359 100.0 684 378 306 316 0.0 0.0 0.0 64.1
300~4008t& || 100.0 376 100.0 618 379 239 382 0.0 0.0 00 624

400TF O | 100.0 463 100.0 76.7 541 226 217 1.7 0.9 0.8 537
20243 Hetde F/ETE APSIRA

- 217 -



4 - 15 FIASAL o1 L UFE - (4) o|&3HA] Y2 ol (F/E=0lE )
(TS %)
0|82 0|82
e 2 et 2
= ga | e | wzor | ey BN B Ao || G0
gotaf | oiat | o | EH lor oy
2 02 4 4 100.0 64.6 100.0 50.0 31.9 4.5 9.2 0.3 4.1 35.4
2 022 4 100.0 70.5 100.0 49.5 34.9 2.9 7.2 0.3 5.2 295
EEEE
Cl = e 100.0 58.7  100.0 60.1 22.2 6.8 7.9 0.3 2.6 41.3
= = e 100.0 68.4 100.0 385 36.4 1.7 15.3 0.0 8.1 31.6
A = e 100.0 63.5 100.0 42.8 47.3 0.9 4.9 0.5 3.7 36.5
gz d 100.0 78.1  100.0 47.4 29.5 6.2 1.7 0.5 4.6 21.9
CH
= At 100.0 64.4 100.0 58.6 26.5 3.6 7.3 0.4 3.6 35.6
o At 100.0 64.8 100.0 411 37.4 55 1.1 0.2 4.7 35.2
Co Yo
15~29 A 100.0 59.0 100.0 71.0 17.2 7.3 1.5 0.0 3.0 41.0
30~39A 100.0 50.8 100.0 75.7 38 15.6 3.3 1.7 0.0 49.2
40~49A 100.0 53.4 100.0 76.6 12.0 6.1 3.4 0.0 1.8 46.6
50~59A4 100.0 61.8  100.0 60.7 28,5 3.1 4.9 0.0 2.9 38.2
6 0 AN O 4 100.0 72.2  100.0 34.1 43.1 2.7 14.0 0.4 5.7 27.8
65 AN O 4 100.0 74.0 100.0 28.4 46.0 2.3 16.4 0.2 6.7 26.0
¢ Tt F_jl Hoy
s 2 O of 100.0 72.2  100.0 32.5 43.5 1.8 14.7 0.5 7.0 27.8
I = 100.0 61.5 100.0 59.0 29.1 53 53 0.0 1.3 385
CH = 100.0 585 100.0 67.9 15.7 8.5 4.7 0.0 3.1 41.5
o & o & 100.0 486 100.0 84.3 5.9 4.5 0.0 5.2 0.0 51.4
cEoHEE>
aj 2 100.0 61.9 100.0 64.6 18.7 9.3 4.0 0.0 3.3 38.1
B ¢ A A & 100.0 61.7 100.0 51.1 32.9 4.3 8.2 0.4 3.0 38.3
AbE /0o 2 100.0 75.0 100.0 36.3 39.6 1.2 15.3 0.4 7.2 25.0
FAEE
= e 100.0 64.4 100.0 63.9 25.3 3.4 5.0 0.2 2.1 35.6
2 2 HISAES 100.0 64.8 100.0 27.8 42.3 6.2 15.8 0.5 7.4 35.2
TR
q4 2/ 88 100.0 61.4 100.0 74.7 14.0 7.1 3.0 0.0 1.2 386
Al = 100.0 448 100.0 73.5 16.8 9.7 0.0 0.0 0.0 55.2
M H[ A / Tt Oj 100.0 70.2  100.0 75.2 17.0 1.0 4.5 0.0 2.2 29.8
s 3 9 ¢ 100.0 73.0 100.0 479 41.1 2.3 54 0.5 2.9 27.0
N/ =7 100.0 60.8 100.0 65.3 20.0 3.9 8.5 0.0 2.3 39.2
i 2l 100.0 451 100.0 86.2 138 0.0 0.0 0.0 0.0 549
Gtrasg)
1002t 02k 100.0 77.5 100.0 28.8 44.6 2.2 16.4 0.7 7.3 22.5
100~2008H¥ 100.0 65.8 100.0 42.6 383 1.7 12.5 0.0 4.8 34.2
200~3008t& 100.0 64.1  100.0 54.7 29.2 7.8 6.2 0.6 1.5 35.9
300~4008t& 100.0 62.4 100.0 64.4 238 5.1 2.5 0.0 4.3 37.6
40093 Of 4 100.0 53.7 100.0 71.3 17.3 6.4 3.3 0.0 1.7 46.3
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0|83 0|83
=] 3| il A
= ga | e | wzor | ey BN B Ao || G0
QoA | 2ot | St oy |2 BOW
2 02 4 4 100.0 64.6 100.0 52.4 31.8 1.6 9.7 0.3 4.1 35.4
2 02 2 4 100.0 70.5 100.0 48.4 354 2.6 7.6 0.3 5.8 295
CA 9 48 )
Cl = e 100.0 58.7  100.0 64.9 21.7 1.6 8.6 0.6 2.6 41.3
= = e 100.0 68.4 100.0 37.7 34.8 1.7 17.8 0.0 8.1 31.6
M £ e 100.0 63.5 100.0 42.7 495 0.0 4.1 0.0 3.7 36.5
gz d 100.0 78.1  100.0 50.3 28.9 3.6 12.1 0.5 4.6 21.9
<A o )
=l At 100.0 64.4 100.0 59.6 26.5 2.1 8.0 0.2 3.6 35.6
q At 100.0 64.8 100.0 44.8 37.3 1.2 11.5 0.5 47 35.2
Co g
1T5~29A 100.0 59.0 100.0 721 20.6 2.8 1.5 0.0 3.0 41.0
30~39MA 100.0 50.8 100.0 89.6 2.1 1.7 5.0 1.7 0.0 49.2
40~49MNM 100.0 53.4 100.0 78.0 15.7 2.9 1.5 0.0 1.8 46.6
50~59A 100.0 61.8  100.0 63.8 26.5 1.0 5.9 0.0 2.9 38.2
6 0 AN O 4 100.0 72.2  100.0 35.2 42.4 1.4 14.8 0.4 5.7 27.8
65 AN O 4 100.0 74.0 100.0 29.0 45.0 1.4 17.6 0.2 6.7 26.0
¢ Tt F_jl Hoy
s 2 O of 100.0 72.2  100.0 33.2 42.5 0.8 16.4 0.2 7.0 27.8
il ES 100.0 61.5 100.0 61.5 29.3 2.6 5.1 0.4 1.3 385
CH ES 100.0 585 100.0 73.2 17.1 2.2 44 0.0 3.1 41.5
o & o & 100.0 486 100.0 88.9 59 0.0 0.0 5.2 0.0 51.4
CEOAE
aj =z 100.0 61.9 100.0 68.5 20.5 2.8 4.8 0.0 3.3 38.1
B ¢ A A & 100.0 61.7 100.0 54.2 32.2 1.6 8.6 0.4 3.0 38.3
AHE /O B 100.0 75.0 100.0 35.9 39.6 0.8 16.0 0.4 7.2 25.0
HAUF >
= 4 100.0 64.4 100.0 66.0 25.7 1.0 5.0 0.2 2.1 35.6
2 3 HIARS 100.0 64.8 100.0 30.6 415 2.6 17.3 0.5 7.4 35.2
CHoYoE
q4 2/ 88 100.0 61.4 100.0 80.8 17.1 0.0 0.8 0.0 1.2 386
Al = 100.0 448 100.0 80.5 14.0 2.8 2.8 0.0 0.0 55.2
M H[ A / Tt Oj 100.0 70.2  100.0 74.7 18.1 1.0 3.9 0.0 2.2 29.8
s 3 9 ¢ 100.0 73.0 100.0 50.6 39.7 0.6 5.7 0.6 2.9 27.0
N/ =7 100.0 60.8 100.0 65.3 21.4 2.0 9.0 0.0 2.3 39.2
T il 100.0 451 100.0 86.2 13.8 0.0 0.0 0.0 0.0 54.9
7 A2EE)
1002t 02k 100.0 77.5 100.0 28.9 446 1.4 17.4 0.3 7.3 22.5
100~2008t3 100.0 65.8 100.0 43.8 36.4 1.3 13.6 0.0 4.8 34.2
200~3008t3 100.0 64.1  100.0 60.0 28.9 2.5 6.6 0.6 1.5 35.9
300~4002H& 100.0 62.4 100.0 64.3 24.7 3.2 2.5 1.1 4.3 37.6
4008t O 4 100.0 53.7 100.0 76.2 18.1 0.8 3.3 0.0 1.7 46.3
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(TS %)
0|82 0|82
e 2 et 2
= ga | e | wzor | ey BN B Ao || G0
gotaf | oiat | o | EH lor oy
2 02 4 4 100.0 64.6 100.0 53.0 31.3 1.9 9.3 0.3 4.1 35.4
2 022 4 100.0 70.5 100.0 48.4 35.2 2.6 7.4 0.2 6.2 295
EEEE
Cl = e 100.0 58.7  100.0 65.8 20.9 2.4 7.6 0.6 2.6 41.3
= = e 100.0 68.4 100.0 37.2 34.8 2.1 17.8 0.0 8.1 31.6
A = e 100.0 63.5 100.0 42.7 49.0 0.5 4.1 0.0 3.7 36.5
gz d 100.0 78.1  100.0 51.8 28,5 2.5 12.0 0.5 4.6 21.9
CH
= At 100.0 64.4 100.0 61.0 25.7 1.8 7.7 0.2 3.6 35.6
o At 100.0 64.8 100.0 44.7 37.1 2.0 11.0 0.5 4.7 35.2
Co Yo
15~29 A 100.0 59.0 100.0 74.3 16.9 4.2 1.5 0.0 3.0 41.0
30~39A 100.0 50.8 100.0 89.6 2.1 1.7 5.0 1.7 0.0 49.2
40~49A 100.0 53.4 100.0 79.5 15.7 1.4 1.5 0.0 1.8 46.6
50~59A4 100.0 61.8  100.0 63.8 26.5 2.0 4.9 0.0 2.9 38.2
6 0 AN O 4 100.0 72.2  100.0 35.6 42.3 1.5 14.4 0.4 5.7 27.8
65 AN O 4 100.0 74.0 100.0 29.3 45.0 1.3 17.4 0.2 6.7 26.0
¢ Tt F_jl Hoy
s 2 O of 100.0 72.2  100.0 335 42.2 1.7 15.3 0.2 7.0 27.8
I = 100.0 61.5 100.0 62.5 28.4 2.3 5.2 0.4 1.3 385
CH = 100.0 585 100.0 73.8 16.6 2.0 4.4 0.0 3.1 41.5
o & o & 100.0 486 100.0 88.9 5.9 0.0 0.0 5.2 0.0 51.4
cEoHEE>
aj 2 100.0 61.9 100.0 70.6 17.7 3.5 4.8 0.0 3.3 38.1
Hf € 2t Q! & 100.0 61.7 100.0 54.7 32.1 1.9 7.8 0.4 3.0 38.3
AbE /0o 2 100.0 75.0 100.0 35.6 39.9 0.8 16.1 0.4 7.2 25.0
FAEE
= e 100.0 64.4 100.0 66.6 25.0 1.2 4.9 0.2 2.1 35.6
2 2 HISAES 100.0 64.8 100.0 31.3 41.4 3.1 16.3 0.5 7.4 35.2
TR
q4 2/ 88 100.0 61.4 100.0 83.9 14.1 0.0 0.8 0.0 1.2 38.6
Al = 100.0 448 100.0 80.5 14.0 2.8 2.8 0.0 0.0 55.2
M H[ A / Tt Oj 100.0 70.2  100.0 75.3 17.5 1.0 3.9 0.0 2.2 29.8
s 3 9 ¢ 100.0 73.0 100.0 51.0 39.5 1.1 4.9 0.6 2.9 27.0
N/ =R 100.0 60.8 100.0 64.6 21.0 2.0 10.1 0.0 2.3 39.2
i 2l 100.0 451 100.0 86.2 138 0.0 0.0 0.0 0.0 549
Gtrasg)
1002t 02k 100.0 77.5 100.0 29.4 44.4 1.3 17.2 0.3 7.3 22.5
100~2008H¥ 100.0 65.8 100.0 43.9 37.6 0.4 13.2 0.0 4.8 34.2
200~3008t& 100.0 64.1  100.0 62.4 26.2 3.4 6.0 0.6 1.5 35.9
300~4008t& 100.0 62.4 100.0 64.3 238 4.1 2.5 1.1 4.3 37.6
40093 Of 4 100.0 53.7 100.0 76.2 18.1 1.5 2.5 0.0 1.7 46.3
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